Page 1 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
IAutomatic Slack Adjusters

4W0900 Auto S/Adjuster Repair Kit KLTCO386

4W1000 Auto S/Adjuster Trailer (MEI) KLTC0387 KB1000
4W1005 Auto S/Adjuster Trailer (MEI) KLTC0381 KB1005
4W1010 Auto S/Adjuster Trailer (MEI) KLTC0421 KB1010
4W1025 Auto S/Adjuster Trailer (MEI) KLTC0388 KB1025
4W1030 Auto S/Adjuster Trailer (MEI) KLTCO0389 KB1030
4W1045 Auto S/Adjuster Trailer (MEI) KLTC0452 KB1045
4W1046 Auto S/Adjuster Trailer (MEI) KLTCO0453 KB1046
4W1075 Auto S/Adjuster Trailer (MEI) KLTCO0459 KB1075
4W1080 Auto S/Adjuster Trailer (MEI) KLTC0460 KB1080
4W1085 Auto S/Adjuster Trailer (MEI) KLTCO461 KB1085
4W1090 Auto S/Adjuster Trailer (MEI) KLTCO0462 KB1090
4W1110 Auto S/Adjuster Trailer (MEI) KLTCO466 KB1110
4W1130 Auto S/Adjuster Trailer (MEI) KLTC0470 KB1130
4W1135 Auto S/Adjuster Trailer (MEI) KLTC0471 KB1135
4W1160 Auto S/Adjuster Trailer (MEI) KLTC0475 KB1160
4W1170 Auto S/Adjuster Trailer (MEI) KLTC0477 KB1170
4W2010 Auto S/Adjuster Truck (MEI) KLTC0390 KB2010
4W2015 Auto S/Adjuster Truck (MEI) KLTC0391 KB2015
4W2020 Auto S/Adjuster Truck (MEI) KLTC0404 KB2020
4W2025 Auto S/Adjuster Truck (MEI) KLTC0392 KB2025
4W2030 Auto S/Adjuster Truck (MEI) KLTC0492 KB2030
4W2035 Auto S/Adjuster Truck (MEI) KLTC0393 KB2035
4W2050 Auto S/Adjuster Truck (MEI) KLTC0406 KB2050
4W2055 Auto S/Adjuster Truck (MEI) KLTC0407 KB2055
4W2060 Auto S/Adjuster Truck (MEI) KLTC0408 KB2060
4W2065 Auto S/Adjuster Truck (MEI) KLTC0409 KB2065
4W2070 Auto S/Adjuster Truck (MEI) KLTC0394 KB2070
4W2075 Auto S/Adjuster Truck (MEI) KLTCO0395 KB2075
4W2080 Auto S/Adjuster Truck (MEI) KLTC0410 KB2080
4W2090 Auto S/Adjuster Truck (MEI) KLTC0428 KB2090
4W2095 Auto S/Adjuster Truck (MEI) KLTC0429 KB2095
4W2105 Auto S/Adjuster Truck (MEI) KLTCO416 KB2105
4W2110 Auto S/Adjuster Truck (MEI) KLTC0496 KB2110
4W2115 Auto S/Adjuster Truck (MEI) KLTC0449 KB2115
4W2120 Auto S/Adjuster Truck (MEI) KLTC0497 KB2120
4W2125 Auto S/Adjuster Truck (MEI) KLTC0448 KB2125
4W2140 Auto S/Adjuster Truck (MEI) KLTCO500 KB2140
4W2155 Auto S/Adjuster Truck (MEI) KLTC0295 KB2155
4W2160 Auto S/Adjuster Truck (MEI) KLTC0296 KB2160
4W2170 Auto S/Adjuster Truck (MEI) KLTCO0501 KB2170
4W2210 Auto S/Adjuster Truck (MEI) KLTC0412 KB2210
4W2220 Auto S/Adjuster Truck (MEI) KLTC0382 KB2220
4W2235 Auto S/Adjuster Truck (MEI) KLTCO509 KB2235




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

4W2250
4W2260
4W2275
4W2280
4W2300
4W2310
4W2315
4W2325
4W2335
4W2360
4W2405
4W2410
4W2415
4W2475
4W2505
4W2510
4W2610
4W2615
4W2630
4W2635
4W2710
4W2725
4W2730
4W2735
4W2740
4W2825
4W2920
4W2925
4W2955
4W3000
4W3005
4W3025
4W3040
4W3045
4W3120
4W3165
4W3425
4W3430
4W3485
4W3490
4W3550
4W3555
4W3655
4W3660
4W3700

X-Ref. UC

IX-Ref. OE & Other

Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)
Auto S/Adjuster Truck (MEI)

MEI)
MEI)
MEI)
MEI)
MEI)
MEI)
MEI)
MEI)

Page 2 of 44

KLTCO0414
KLTCO0385
KLTC0415
KLTC0434
KLTCO0435
KLTCO0517
KLTCO0518
KLTC0520
KLTC0522
KLTC0257
KLTC0348
KLTCO0439
KLTC0440
KLTCO546
KLTC0552
KLTCO553
KLTC0430
KLTC0420
KLTCO0573
KLTCO0574
KLTC0589
KLTC0446
KLTCO0447
KLTCO0383
KLTCO384
KLTC0608
KLTC0625
KLTC0422
KLTC0631
KLTC0640
KLTCO0641
KLTC0645
KLTC0648
KLTC0649
KLTCO664
KLTC0426
KLTC0724
KLTCO0725
KLTC0432
KLTCO0433
KLTC0424
KLTC0425
KLTCO766
KLTCO0767
KLTCO775

KB2250
KB2260
KB2275
KB2280
KB2300
KB2310
KB2315
KB2325
KB2335
KB2360
KB2405
KB2410
KB2415
KB2475
KB2505
KB2510
KB2610
KB2615
KB2630
KB2635
KB2710
KB2725
KB2730
KB2735
KB2740
KB2825
KB2920
KB2925
KB2955
KB3000
KB3005
KB3025
KB3040
KB3045
KB3120
KB3165
KB3425
KB3430
KB3485
KB3490
KB3550
KB3555
KB3655
KB3660
KB3700




Page 3 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
4W3705 Auto S/Adjuster Truck (MEI) KLTCO0776 KB3705
4W3910 Auto S/Adjuster Truck (MEI) KLTCO436 KB3910
4W3915 Auto S/Adjuster Truck (MEI) KLTC0437 KB3915
4W4135 Auto S/Adjuster Truck (MEI) KLTCO0854 KB4135
4W4140 Auto S/Adjuster Truck (MEI) KLTCO0855 KB4140
4W4145 Auto S/Adjuster Truck (MEI) KLTCO0856 KB4145
4W9999 Auto S/Adjuster Trailer (MEI) KLTC0444
6Y1500 Auto S/Adjuster Trailer (MEI) KLTCO0871 KB1500
6Y1505 Auto S/Adjuster Trailer (MEI) KLTC0872 KB1505
6Y1515 Auto S/Adjuster Trailer (MEI) KLTCO0873 KB1515
6Y6500 Auto S/Adjuster Truck (MEI) KLTC0874 KB6500
6Y6505 Auto S/Adjuster Truck (MEI) KLTCO0875 KB6505
6Y6510 Auto S/Adjuster Truck (MEI) KLTC0876 KB6510
6Y6515 Auto S/Adjuster Truck (MEI) KLTCO0877 KB6515
6Y6520 Auto S/Adjuster Truck (MEI) KLTC1022 KB6520
6Y6525 Auto S/Adjuster Truck (MEI) KLTC1023 KB6525
6Y6530 Auto S/Adjuster Truck (MEI) KLTC1025 KB6530
6Y6535 Auto S/Adjuster Truck (MEI) KLTC1026 KB6535
6Y6540 Auto S/Adjuster Truck (MEI) KLTC0878 KB6540
6Y6545 Auto S/Adjuster Truck (MEI) KLTC0879 KB6545
Wheel Studs / Bolts / Nuts / Accessories
AA0003 WHEEL BOLT RH 7/8 BSF TWIN A1730 21018490
AA0004 WHEEL BOLT LH 7/8 BSF TWIN A1740 21018491
AA0005 WHEEL BOLT RH M22X1.5MM ISO SINGLE A1789 21022167
AA0006 WHEEL BOLT RH M22X1.5MM ISO SINGLE/TWIN A2000 21020997
AA0007 WHEEL BOLT RH M22X1.5MM ISO SINGLE Al1741 21220132
AA0041 WHEEL BOLT RH M22X1.5MM ISO TWIN A1941 CF101541, Y520142
AA0400 WHEEL CONE (To Fit AAOO3 & AA0004) A1750 21205188
AA0401 INNER WHEEL CONE (To Fit AO006) A2010 21019026
AA0402 Outer CONE (To Fit A0O006) A2020 21006512
AA0420 WHEEL NUT RH 7/8 BSF D=27MM AF=33MM A1120 CF100025, CF500081/02
AA0421 6 WHEEL NUT LH 7/8 BSF D=27MM AF=33MM A1130 CF100024, CF500081/01
AA0422 WHEEL NUT RH 7/8 BSF D=30MM AF=33MM A1132 21016416
AA0423 WHEEL NUT LH 7/8 BSF D=30MM AF=33MM A1133 21016417
AA0429 W/NUT RH M22X1.5 ISO D=30MM AF=33MM Al1134 21203099 / 7000016A /
AA0430 W/NUT RH M22X1.5 I1SO D=30MM AF=32MM A1136 21218643 /0252192310 / 4247301200 /
AA0900 CHECKPOINT 19MM A/F YELLOW Al1122 CPY19
AA0901 CHECKPOINT 21MM A/F YELLOW A1151 CPY21
AA0902 CHECKPOINT 24MM A/F YELLOW A1103 CPY24
AA0903 CHECKPOINT 26MM A/F YELLOW Al1124 CPY26
AA0904 CHECKPOINT 27MM A/F YELLOW Al1125 CPY27
AA0905 CHECKPOINT 28MM A/F YELLOW A1126 CPY28
AA0906 CHECKPOINT 30MM A/F YELLOW A1127 CPY30
AA0907 CHECKPOINT 32MM A/F YELLOW A1129 CPY32
AA0908 CHECKPOINT 33MM A/F YELLOW A1128 CPY33




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AA0909 CHECKPOINT 38MM A/F YELLOW A1123 CPY38
AA0910 CHECKPOINT 40MM A/F YELLOW Al141 CPY40
AA0920 DUSTITE 27MM A/F YELLOW KLTHO0250 DTY27
AA0921 DUSTITE 30MM A/F YELLOW KLTHO251 DTY30
AA0922 DUSTITE 32MM A/F YELLOW KLTH0252 DTY32
AA0923 DUSTITE 33MM A/F YELLOW KLTHO253 DTY33
AA0940 DUSTITE LR 32MM A/F YELLOW KLTHO0255 DTLRY32
AA0941 DUSTITE LR 33MM A/F YELLOW KLTHO256 DTLRY33
AA0950 CHECKLINK 33MM A/F N5000 CLY33
AA0951 CHECKLINK 32MM A/F N5010 CLY32
AA0952 CHECKLINK 30MM A/F N5040 CLY30
AA0953 CHECKLINK 28MM A/F N5030 CLY28
AA0954 CHECKLINK 27MM A/F N5020 CKY27
AA0955 CHECKLINK 24MM A/F N5050 CLY24
AA0956 CHECKLINK 22MM A/F N5080 CLY22
AA0957 CHECKLINK 19MM A/F N5060 CLY19
AA0958 CHECKLINK 38MM A/F N5070 CLY38
AA0995 W-Nut Indicator 32mm (100) Al1129
AA0996 W-Nut Indicator 33mm (100) A1128
Dust Covers
A_B0001 DUST COVER PAIR 310mm x 190mm x 62mm A1906 21202329, CF102191
AB0002 DUST COVER PAIR 420mm x 180mm x 72mm A1635 21008062
AB0003 DUST COVER PAIR 420mm x 220mm x 88mm A1915 21200920
AB0004 DUST COVER PAIR 420mm x 180mm x 52/62mm A1855 15220648, CF102919, 21220647
ABO005 DUST COVER PAIR 420mm x 220mm x 78/88mm A1877 15221568, CF102912, 21221567
AB0006 DUST COVER SINGLE TO SUIT ROR LM A3044 21224522
ABO007 IN-FILL PLATE FOR AB00OO6 UP TO 2001 A1884 15224518
AB0008 IN-FILL PLATE FOR AB0006 Post 2001 KLTHO133 15225842
AB0O009 DUST COVER PAIR 350mm x 200mm x 72mm BMX A1631 21209705/21209706
AB0040 D/COVER PAIR 394mm x 180/210mm x 5mm (York Tec) A1905 CF102648
AB0041 D/COVER PAIR 420mm x 180/210mm x 5mm (York Tec) A1907 Y501875/6
AB0042 D/COVER PAIR 420mm x 180/210mm x 5mm (2000) A1919 CF102649
AB0060 DUST COVER SET (BPW 9900000071 EQUIV) A9654 9900000071
AB0061 DUST COVER SET (BPW 9900000073 EQUIV) A9655 9900000073
AB0070 DUST COVER SET (BPW 9900000093 EQUIV) A9528 9900000093
AB0080 DUST COVER SET (SAF 3005003702 EQUIV) A5073 3005003702
AB0081 DUST COVER SET (SAF 3005011701 EQUIV) A5443 3005011701
AB0082 DUST COVER SET (SAF 3005014100 EQUIV) A5746 3005014100
AB0083 DUST COVER SET (SAF 3005017300 EQUIV) A5791 3005017300
AB0084 DUST COVER SET (SAF 3005016100 EQUIV) KLTHO0244 3005016100
AB0085 DUST COVER SET (SAF 3005005500 EQUIV) A5075 3005005500
AB0086 DUST COVER SET (SAF 3005000902 EQUIV) A8222 3005000902
AB0087 DUST COVER SET (SMB/TRAILOR) A8223 MO010544 / CF103102
AB0120 DUST COVER PAIR 420mm x 180mm x 71mm (CF) A5895 AJA0483/701
AB0121 DUST COVER PAIR 420mm x 180mm x 36mm (CF) A5948 ARJB0006/701 // 1025097

Page 4 of 44




TRUCK & TRAILER PARTS LTD

Page 5 of 44

P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
Brake Shoes

ABO501 BRAKE SHOE 310mm x 190mm Q/F (RW) A2863 15206005

ABO503 BRAKE SHOE 420mm x 180mm Q/F (IL) A3000 15205533

ABO505 BRAKE SHOE 420mm x 220mm Q/F (FU) A3010 15205191

ABO507 BRAKE SHOE 420mm x 180mm LM Q/F (RW) A3046 15224724

ABO0510 BRAKE SHOE 420mm x 180mm SAF SK A5741 3054012000

ABO511 BRAKE SHOE 420mm x 200mm SAF SK A5742 3054012200

ABO515 BRAKE SHOE 420mm x 180mm SAF A3015 2056005200

ABO516 BRAKE SHOE 420mm x 200mm SAF A3016 2056005300

AB0520 BRAKE SHOE 420mm x 180mm Q/F BPW EQUIV A3021 0509126640 / 0509126641 / 0509126642
AB0521 BRAKE SHOE 420mm x 200mm Q/F BPW EQUIV A3022 0509127540 / 0509127541 / 0509127542
ABO0525 BRAKE SHOE 420mm x 180mm Q/F BPW 95 EQUIV A3024 0509146170

AB0550 BRAKE SHOE 420mm x 180mm (6mm) Fruehauf A5941

ABO560 BRAKE SHOE 419mm x 203mm (5mm) SMB A5952 MOO06093
Camshafts (Trailer)

AC0001 Camshaft Parallel RH (O/L 570mm) A1480 21205406

AC0002 Camshaft Parallel LH (O/L 570mm) A1490 21205407

AC0003 Camshaft Stepped RH (O/L 572mm) A1493 21202754

AC0004 Camshaft Stepped LH (O/L 572mm) A1494 21202755

AC0005 Camshaft Stepped RH (O/L 622mm) A1558 21210959

AC0006 Camshaft Stepped LH (O/L 622mm) A1559 21210960

AC0007 Camshaft Stepped RH (O/L 675mm) A1565 21222191

AC0008 Camshaft Stepped LH (O/L 675mm) A1566 21222192

AC0009 Camshaft Stepped RH (O/L 576mm) A1483 21212308

ACO0010 Camshaft Stepped LH (O/L 576mm) A1484 21212309

AC0011 Camshaft BMX TM RH (O/L 572mm) A1481 21209702

ACO0012 Camshaft BMX TM LH (O/L 572mm) A1482 21209703

AC0020 Camshaft RH (O/L 572mm) TE A1872 21221070, CF102825
AC0021 Camshaft LH (O/L 572mm) TE A1873 21221071, CF102826
AC0022 Camshaft RH (O/L 632mm) TE A1878 21221194, CF102916
AC0023 Camshaft LH (O/L 632mm) TE A1879 21221195, CF102917
ACO0030 Camshaft Stepped RH (O/L 572mm) A1407 21224793

ACO0031 Camshaft Stepped LH (O/L 572mm) A1408 21224794

AC0032 Camshaft Stepped RH (O/L 634mm) Al411 21224795

ACO0033 Camshaft Stepped LH (O/L 634mm) A1412 21224796

AC0040 Camshaft Stepped RH (U/H 587.5mm) LM April 2001 on A2467 21227080

AC0041 Camshaft Stepped LH (U/H 587.5mm) LM April 2001 on A2466 21227081

AC0042 Camshaft Stepped RH (U/H 587.5mm)TA,TM,TE April 2001 on A2476 21227107

ACO0043 Camshaft Stepped LH (U/H 587.5mm)TA,TM,TE April 2001 on A2477 21227108

ACO0050 Camshaft R/H (O/L 634mm) TRAILOR A8242 6503390L

ACO0051 Camshaft L/H (O/L 634mm) TRAILOR A8243 6503391M

AC0101 Camshaft Parallel RH (O/L 678mm) SAF A5358 3262027201

AC0102 Camshaft Parallel LH (O/L 678mm) SAF A5359 3262027101

ACO0103 Camshaft Parallel RH (O/L 704mm) SAF A5360 3262028401




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AC0104 Camshaft Parallel LH (O/L 704mm) SAF A5361 3262028301
ACO0105 Camshaft RH (O/L 720mm) SAF SK A5702 2262110202
AC0106 Camshaft LH (O/L 720mm) SAF SK A5705 2262110302
AC0107 Camshaft RH (O/L 720mm) SAF SK O/S A5752 2262110201
AC0108 Camshaft LH (O/L 720mm) SAF SK O/S A5753 2262110301
AC0201 Camshaft Parallel RH (O/L 590mm) CF A1496-1 AJA0476/004
AC0202 Camshaft Parallel LH (O/L 590mm) CF A1497-1 AJA0476/003
ACO0300 Camshaft RH (O/L 740mm) BPW A9974 0509705290
ACO0301 Camshaft LH (O/L 740mm) BPW A9975 0509705300
AC0302 Camshaft LH (O/L 676mm) BPW A9756 0509705393
AC0303 Camshaft RH (O/L 676mm) BPW A9757 0509705403
ACO0500 Camshaft Parallel RH (O/L 726mm) York A1487 Y504723/10RH, CF103304
ACO0501 Camshaft Parallel LH (O/L 726mm) York A1488 Y504723/10LH, CF103303
Camshafts (Truck)
AC1000 Camshaft LH Volvo 1577453 Equiv KLTH0285 1577453
AC1010 Camshaft RH Volvo 1577452 Equiv KLTHO0284 1577452
AC1015 Camshaft LH Volvo 1577451 Equiv KLTH0287 1577451
AC1020 Camshaft LH Volvo 1577450 Equiv KLTHO0286 1577450
AC1025 Camshaft LH Volvo 9524102 Equiv KLTHO289 9524102
AC1030 Camshaft RH Volvo 9524101 Equiv KLTH0288 9524101
AC1100 Camshaft LH Mercedes 6234210136 Equiv KLTHO0291 6234210136
AC1105 Camshaft RH Mercedes 6234210236 Equiv KLTHO0290 6234210236
AC1110 Camshaft LH Mercedes 6234230236 Equiv KLTHO0293 6234230236
AC1115 Camshaft RH Mercedes 6234230136 Equiv KLTH0292 6234230136
AC1120 Camshaft LH Mercedes 3074230936 Equiv KLTHO0295 3074230936
AC1125 Camshaft RH Mercedes 3074230836 Equiv KLTH0294 3074230836
AC1130 Camshaft LH Mercedes 3054211836 Equiv KLTH0297 3054211836
AC1135 Camshaft RH Mercedes 3054211936 Equiv KLTHO0296 3054211936
AC1200 Camshaft LH (NSF) Scania 4 Series 1340859 Equiv A9910 1340859
AC1210 Camshaft RH (OSF) Scania 4 Series 1340860 Equiv A9911 1340860
AC1220 Camshaft LH (NSF) Scania 3 Series 330639 Equiv KLTH0299 330639
AC1230 Camshaft RH (OSF) Scania 3 Series 330640 Equiv KLTH0298 330640
AC1240 Camshaft LH Scania 3 & 4 Series 1342745 Equiv KLTHO0301 1342745
AC1250 Camshaft RH Scania 3 & 4 Series 1342746 Equiv KLTH0300 1342746
Brake Drums (Trailer)
[BD1000 Brake Drum ROR 420x180 21018986 EQUIV A1770 21018986
BD1010 Brake Drum ROR 420x220 21021114 EQUIV A1780 21021114
BD1015 Brake Drum ROR L/L 10 Stud A1781 21018963
BD1025 Brake Drum ROR BMX A1775 21211030
BD1040 Brake Drum YORK 394x190 Y500761 EQUIV A1960 Y500761
BD1110 Brake Drum YORK Y501786 EQUIV A1963 Y501786
BD1100 Brake Drum YORK Y501788 EQUIV A1964 Y501788
BD1070 Brake Drum YORK Y786108 EQUIV A1968 Y786108
BD1080 Brake Drum YORK Y786110 EQUIV A1969 Y786110
BD1050 Brake Drum YORK 394x210 Y500770 EQUIV A1970 Y500770

Page 6 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
BD1060 Brake Drum YORK 350x210 Y506412SC A1974 Y506412SC
BD1120 Brake Drum YORK Y501774 EQUIV A1975 Y501774
BD1130 Brake Drum YORK Y501481 EQUIV A1976 Y501481
BD4030 Brake Drum SAF 1064026001 Equiv A5728 1064026001
BD4040 Brake Drum SAF 1064027000 Equiv A5729 1064027000
BD2120 Brake Drum TRAILOR 6502782Y EQUIV A8215 6502782Y
BD2130 Brake Drum TRAILOR 6502806L EQUIV A8216 6502806L
BD2000 Brake Drum FRUEHAUF PROPAR C0130 CF100102
BD2010 Brake Drum FRUEHAUF PROPAR C0140 CF101407 / AJA0489/001
BD2020 Brake Drum FRUEHAUF PROPAR C0145 CF102267 / AJB0026/001
BD3070 Brake Drum BPW 0310946400 Equiv C0300 0310946400
BD3060 Brake Drum BPW 0310946490 Equiv C0307 0310946490
BD3050 Brake Drum BPW 0310546270 Equiv C0308 0310546270
BD3030 Brake Drum BPW 0310967740 Equiv C0330 0310967740
BD3000 Brake Drum BPW 0310977720 Equiv C0340 0310977720
BD3010 Brake Drum BPW 0310967130 Equiv C0341 0310967130
BD1020 Brake Drum ROR TE 21220183 Equiv C2080 21220183
BD4050 Brake Drum SAF 1064006002 Equiv C2600 1064006002
BD4070 Brake Drum SAF 1064022000 Equiv C2603 1064022000
BD4080 Brake Drum SAF 1064022100 Equiv C2604 1064022100
BD4060 Brake Drum SAF 1064010801 Equiv C2610 1064010801
BD4090 Brake Drum SAF 1064019700 Equiv C2620 1064019700
BD4100 Brake Drum SAF 1064022300 Equiv C2622 1064022300
BD4110 Brake Drum SAF 1064021800 Equiv C2623 1064021800
BD4120 Brake Drum SAF 1064025200 Equiv C2624 1064025200
BD4000 Brake Drum SAF 1064024201 Equiv C2640 1064024201
BD4010 Brake Drum SAF 1064023601 Equiv C2650 1064023601
BD2100 Brake Drum TRAILOR 6502796E EQUIV C2700 6502796E
BD2110 Brake Drum TRAILOR 6502807M EQUIV C2710 6502807M
BD3020 Brake Drum BPW 0310967190 Equiv KLTEO150 0310967190
BD3040 Brake Drum BPW 0310977170 Equiv KLTEO0169 0310977170
BD4020 Brake Drum SAF 1064027300 Equiv KLTEO176 1064027300
Brake Discs
ADO0005 BRAKE DISC BPW 0308834010 EQUIV KLTEO159 0308834010
ADO0010 BRAKE DISC BPW 0308834030 EQUIV KLTEO139 0308834030
ADO0015 BRAKE DISC BPW 0308834040 ABS EQUIV KLTEOO54 0308834040
AD0020 BRAKE DISC BPW 0308834070 EQUIV KLTEO140 0308834070
AD0025 BRAKE DISC BPW 0308834080 EQUIV KLTEO160 0308834080
ADO0030 BRAKE DISC BPW 0308834137 EQUIV KLTEO173 0308834137
AD0035 BRAKE DISC BPW 0308835010 EQUIV KLTEO049 0308835010
ADO0040 BRAKE DISC BPW 0308835030 EQUIV KLTEOO55 0308835030
AD0045 BRAKE DISC BPW 0308835050 EQUIV KLTEO149 0308835050
ADO0050 BRAKE DISC MERITOR/DUCO ABS MBR9004 EQUIV KLTEO151 MBR9003
ADO0055 BRAKE DISC MERITOR 21224263 EQUIV KLTEO106 21224263
ADO0060 BRAKE DISC MERITOR 21227349 EQUIV C3991 21227349

Page 7 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AD0062 — BRAKE DISC NEOPLAN 082135830 EQUIV KLTEO180 82135830
AD0065 BRAKE DISC SAF 4079000300 EQUIV KLTE0052 4079000300
AD0070 BRAKE DISC SAF 4079000400 EQUIV KLTE0051 4079000400
AD0075 BRAKE DISC SAF 4079000501 EQUIV KLTE0050 4079000501
AD00S0 BRAKE DISC SAF 4079000701 EQUIV KLTHO108 4079000701
AD0085 BRAKE DISC SAF 4079001001 EQUIV KLTE0191 4079001001
AD0090 BRAKE DISC SAF 4079001300 EQUIV KLTEO188 4079001300
AD0095 BRAKE DISC SCHMITZ 017870/09.9406 EQUIV KLTE0253 017870/09.9406
AD0100 BRAKE DISC SMB M078157 EQUIV KLTE0141 MO078157
AD0105 BRAKE DISC SMB M200135 M069018 EQUIV KLTE0053 M200135
AD1005 BRAKE DISC DAF 1400069 EQUIV KLTE0239 1400069
AD1010 BRAKE DISC DAF 1400284 EQUIV KLTE0240 1400284
AD1015 BRAKE DISC DAF 1403758 EQUIV KLTE0192 1403758
AD1020 BRAKE DISC DAF PAK3546 EQUIV 3664 PAK3546
AD1025 BRAKE DISC DAF AMPAO14 EQUIV KLTE0056 AMPA014
AD1030 BRAKE DISC DAF 1400163 EQUIV KLTE0185 1400163
AD1035 BRAKE DISC DAF PAK3545 EQUIV 3323 PAK3545
AD1040 BRAKE DISC DAF 1400273 EQUIV KLTE0186 1400273
AD1045 BRAKE DISC EUROCARGO 1907529 EQUIV (Disc only) 3652 1907529
AD1050 BRAKE DISC FORD CARGO 6172906 EQUIV 3230 6172906
AD1055 BRAKE DISC FORD TRANSIT 4041427 EQUIV KLTE0062 4041427
AD1060 BRAKE DISC FORD TRANSIT 5025610 EQUIV KLTE0010 5025610
AD1065 BRAKE DISC FORD TRANSIT 5029816 EQUIV KLTE0011 5029816
AD1070 BRAKE DISC IVECO 01908729 EQUIV 3809 1908729
AD1075 BRAKE DISC IVECO 01908772 EQUIV KLTE0021 1908772
AD1080 BRAKE DISC IVECO 02992477 EQUIV KLTE0194 2992477
AD1085 BRAKE DISC IVECO 1904693 EQUIV 3677 1904693
AD1090 BRAKE DISC IVECO 1907526 EQUIV 3681 1907526
AD1095 BRAKE DISC IVECO 1907568 EQUIV 3682 1907568
AD1100 BRAKE DISC IVECO 1907569 EQUIV 3683 1907569
AD1105 BRAKE DISC IVECO 2995894 EQUIV KLTE0204 2995894
AD1110 BRAKE DISC IVECO 1907529 EQUIV C/W STUDS KLTE0066 1907529
AD1115 BRAKE DISC IVECO 01906438 EQUIV KLTE0069 1906438
AD1120 BRAKE DISC IVECO1904529 EQUIV 3653 1904529
AD1125 BRAKE DISC MAN 81508030009 EQUIV 3688 81508030009
AD1130 BRAKE DISC MAN 81508030010 EQUIV 3687 81508030010
AD1135 BRAKE DISC MAN 81508030020/7 EQUIV KLTE0032 81508030020/6
AD1140 BRAKE DISC MAN 81508030022 EQUIV KLTE0072 81508030022
AD1145 BRAKE DISC MAN 81508030023 EQUIV KLTE0033 81508030023
AD1150 BRAKE DISC MAN 81508030026 EQUIV 3900 81508030026
AD1155 BRAKE DISC MAN 81508030039 EQUIV KLTEO154 81508030039
AD1160 BRAKE DISC MAN 81508030063 EQUIV KLTE0245 81508030063
AD1165 BRAKE DISC MAN 81508030021 EQUIV KLTEO155 81508030021
AD1170 BRAKE DISC MERCEDES 9014210312 EQUIV 3689 9014210312
AD1175 BRAKE DISC MERCEDES 9024210312 EQUIV 3690 9024210312

Page 8 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AD1180 BRAKE DISC MERCEDES 9424211212 EQUIV KLTEO012 9424211212
AD1185 BRAKE DISC MERCEDES 6684210112 EQUIV KLTEOO15 6684210112
AD1190 BRAKE DISC MERCEDES 6684210212 EQUIV KLTEO017 6684210212
AD1195 BRAKE DISC MERCEDES 9704210612 EQUIV KLTEOO035 9704210612
AD1200 BRAKE DISC MERCEDES 3564210312 EQUIV C3873 3564210312
AD1205 BRAKE DISC MERCEDES 6384230112 EQUIV KLTEOQ77 6384230112
AD1210 BRAKE DISC MERCEDES 6684230112 EQUIV KLTEOO18 6684230112
AD1215 BRAKE DISC MERCEDES 6694210112 EQUIV C3695 6694210112
AD1220 BRAKE DISC MERCEDES 9044230312 EQUIV KLTEO034 9044230312
AD1225 BRAKE DISC MERCEDES 9054200072 EQUIV KLTEO0256 9054200072
AD1230 BRAKE DISC MERCEDES 9704230412 EQUIV KLTEO156 9704230412
AD1235 BRAKE DISC MERCEDES 9704230512 EQUIV KLTEO158 9704230512
AD1240 BRAKE DISC MERCEDES 9754210112 EQUIV KLTEO157 9754210112
AD1245 BRAKE DISC MERCEDES 9754230312 EQUIV KLTEO038 9754230312
AD1250 BRAKE DISC RENAULT 5000545242 EQUIV C3484 5000545242
AD1255 BRAKE DISC RENAULT 5000792539 EQUIV C3640 5000792539
AD1260 BRAKE DISC RENAULT 5010216437 EQUIV C3708 5010216437
AD1265 BRAKE DISC RENAULT 5010260102 EQUIV KLTEOO79 5010260102
AD1270 BRAKE DISC RENAULT 5010260218 EQUIV KLTE0237 5010260218
AD1275 BRAKE DISC RENAULT 5010422262 EQUIV KLTE0193 5010422262
AD1280 BRAKE DISC RENAULT 5010422263 EQUIV KLTE0252 5010422263
AD1285 BRAKE DISC RENAULT 5010422364 EQUIV KLTE0189 5010422364
AD1290 BRAKE DISC RENAULT 5010525014 EQUIV KLTEO244 5010525014
AD1295 BRAKE DISC RENAULT 5010525308 EQUIV KLTE0193 5010525308
AD1300 BRAKE DISC RENAULT 501052326 EQUIV KLTE0258 501052326
AD1305 BRAKE DISC SCANIA 1402272 EQUIV KLTE0022 1402272
AD1310 BRAKE DISC VOLVO 3095672 EQUIV KLTE0260 3095672
AD1315 BRAKE DISC VOLVO 6774686 EQUIV C3660 6774686
AD1320 BRAKE DISC VOLVO 6775223 EQUIV C3910 6775223
AD1325 BRAKE DISC VOLVO 6779209-3 EQUIV KLTEO161 6779209-2
AD1335 BRAKE DISC VOLVO 85103803 EQUIV (Vented) KLTEO199 85103803
AD1340 BRAKE DISC FITTING KIT VOLVO EQUIV KLTEO0235 85103803KIT
AD1345 BRAKE DISC VOLVO 85103804 EQUIV KLTEO251 85103804
AD1350 BRAKE DISC VOLVO 85103805 EQUIV KLTE0242 85103805
AD1355 BRAKE DISC VOLVO 85103806 EQUIV KLTE0259 85103806
AD1360 BRAKE DISC MERCEDES 9434210312 EQUIV KLTE0241 9434210312
AD1370 BRAKE DISC BPW 0308834020 EQUIV KLTEO138 308834020
AD1375 BRAKE DISC BPW 0308834100 EQUIV KLTE0184 308834100
AD1380 BRAKE DISC IVECO 01908773 EQUIV KLTEOO09 1908773
AD1385 BRAKE DISC FORD 4041428 EQUIV KLTEO063 4041428
AD1390 BRAKE DISC FORD 1904532 EQUIV C3678 1904532
AD1395 BRAKE DISC MAN 81508030028 EQUIV KLTE0238 81508030028
AD1400 BRAKE DISC MERC 6384210112 EQUIV KLTEOO76 6384210112
AD1405 BRAKE DISC MERC 6684230512 EQUIV 6684230512
AD1406 ABS RING FOR USE WITH 6684230512 EQUIV

Page 9 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AD1410 BRAKE DISC REN 5010216433 EQUIV KLTEO0250 5010216433
AD1415 BRAKE DISC VOLVO 6779208-5 EQUIV C3661 6779208-5
AD1420 BRAKE DISC VOLVO 3112965 EQUIV KLTE0187 3112965
AD1425 BRAKE DISC MAN TGA 81508030044 EQUIV KLTEO0246 81508030044
AD1430 BRAKE DISC MAN TGA/M 81508030042 EQUIV KLTE0247 81508030042
AD1500 BRAKE DISC DAF 1142086 EQUIV KLTEO236 1142086
AD1510 BRAKE DISC DAF 1142132 EQUIV 1142132
Brake Pad Sets
ADS8000 BRAKE PAD SET WVA29088 KLTEOO29R WVA29088
AD8010 BRAKE PAD SET WVA29077/092 KLTEOO57R WVA29077/ 29092
AD8020 BRAKE PAD SET WVA29093/095 KLTEOO81R WVA29093 / 29095
AD8030 BRAKE PAD SET WVA29125 KLTEOO091R WVA29125
AD8040 BRAKE PAD SET WVA29090 KLTEOO92R WVA29090
AD8050 BRAKE PAD SET WVA29159 KLTEO135R WVA29159
AD8060 BRAKE PAD SET WVA29165 KLTEO146R WVA29165
AD8070 BRAKE PAD SET WVA29167 KLTEO147R WVA29167
AD8080 BRAKE PAD SET WVA29171 KLTEO148R WVA29171
AD8090 BRAKE PAD SET WVA29131 KLTEO177R WVA29131
AD8100 BRAKE PAD SET WVA29169 KLTEO178R WVA29169
AD8110 BRAKE PAD SET WVA29162 KLTEO182R WVA29162
AD8120 BRAKE PAD SET WVA29142 KLTEO190R WVA29142
AD8130 BRAKE PAD SET WVA29107 WVA29107
AD8140 BRAKE PAD SET WVA29121 WVA29121
AD8150 BRAKE PAD SET WVA29123 WVA29123
AD8160 BRAKE PAD SET WVA29160 KLTEO211R WVA29160
AD8170 BRAKE PAD SET WVA29174 KLTEO225R WVA29174
AD8180 BRAKE PAD SET WVA29147/29181 KLTEO233R WVA29147 / 29181
AD8190 BRAKE PAD SET WVA29173 KLTEO234R WVA29173
AD8200 BRAKE PAD SET WVA29087 (988) KLTHOOO7R WVA29087/29042/29061/29105/29106/29108
AD8210 BRAKE PAD SET WVA29141 R9006R WVA29141
AD8220 BRAKE PAD SET WVA29017 R9009R WVA29017
AD8230 BRAKE PAD SET WVA20835/29835 R9014R WVA20835/29835
AD8240 BRAKE PAD SET WVA29302 R9018R WVA29302
AD8250 BRAKE PAD SET WVA29747/29969 R9020R WVA29747/29969
AD8260 BRAKE PAD SET WVA29072 R9022R WVA29072
AD8270 BRAKE PAD SET WVA21469 R9025R WVA21469
AD8280 BRAKE PAD SET WVA29030/29113 R9029R WVA29030/29113
AD8290 BRAKE PAD SET WVA29043 R9030R WVA29043
AD8300 BRAKE PAD SET WVA29032 R9031R WVA29032
AD8310 BRAKE PAD SET WVA29011 R9032R WVA29011
AD8320 BRAKE PAD SET WVA29065 R9037R WVA29065
AD8330 BRAKE PAD SET WVA29055 R9040R WVA29055
AD8340 BRAKE PAD SET WVA21576 R9041R WVA21576
AD8350 BRAKE PAD SET WVA21621 R9042R WVA21621
AD8360 BRAKE PAD SET WVA29076/29153 R9043R WVA29076/WVA29153

Page 10 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AD8370 BRAKE PAD SET WVA29122 R9047R WVA29122
AD8380 BRAKE PAD SET WVA29124 R9050R WVA29124
AD8390 BRAKE PAD SET WVA29151 KLTE0243 WVA29151
AD8400 BRAKE PAD SET WVA29148 KLTEOO75R WVA29148
AD8410 BRAKE PAD SET WVA29498 R9028R WVA29498
Brake Lining Sets
AL1000 BR-LINING AXLE SET (8) 19495 R2299 19495 // MP32/1
AL1010 BR-LINING AXLE SET (4+4) 19490/91 KLTE0248 19490-19491 // SJ34/1 / SJ35/1
AL1020 BR-LINING AXLE SET (8) 19032 R2151 19032 // BC98/1
AL1030 BR-LINING AXLE SET (8) 19094 R2150 19094 // BC97/1
AL1040 BR-LINING AXLE SET (8) 19574 R2145 19574 // BC80/1
AL1050 BR-LINING AXLE SET (4+4) 19036/37 R2000/R2010 19036-19037 // I1L66/3 // IL67/3
AL1060 BR-LINING AXLE SET (4+4) 19369/70 R2020/R2030 19369-19370 // FU4/3 // FU5/3
AL1100 BR-LINING AXLE SET (4+4) 19783/4 KLTE0142/KLTE0143 19783-19784 // MQ3/3 // MQ4/3
AL1150 BR-LINING AXLE SET (8) 19934 R2415 19934 // RN100/1
AL1155 BR-LINING AXLE SET (8) 19935 R2416 19935 // RN101/1
AL1160 BR-LINING AXLE SET (8) 19187 KLTEO144 19187 // RN104/1
AL1170 BR-LINING AXLE SET (4+4) 19030/19033 R2500/R2501 19030-19033 // RW34/1 // RW35/1
AL1200 BR-LINING AXLE SET (8) 19075 R2330 19075 // Sv8/1
AL1210 BR-LINING AXLE SET (4) 19930 R2438 19930 // SV39/2
AL1220 BR-LINING AXLE SET (4) 19931 R2356 19931 // SvV40/2
AL1230 BR-LINING AXLE SET (4) 19932 R2352 19932 // SV41/2
AL1240 BR-LINING AXLE SET (4) 19933 R2342 19933 // Sv42/2
AL1250 BR-LINING AXLE SET (8) 17992 R2392 17992 // VL85/1
AL1260 BR-LINING AXLE SET (8) 19941 R2393 19941 //VL86/1
AL1270 BR-LINING AXLE SET (8) 19090 KLTE0024 19090 // VL87/2
AL1280 BR-LINING AXLE SET (8) 19071 KLTE0025 19071 //VL88/2
AL1290 BR-LINING AXLE SET (8) 19068 KLTE0026 19068 // VL89/2
AL1300 BR-LINING AXLE SET (8) NN62 R2522 NN62/1
AL1310 BR-LINING AXLE SET (8) NN63 R2523 NN63/1
AL1320 BR-LINING AXLE SET (8) 19494 R2292 19494 // MP32/1
AL1340 BR-LINING AXLE SET (8) 19496 R2309 19496 // MP36/2
Oil Seals
AHO0300 OIL SEAL TM - Grease A1800 21020663
AHO0301 OIL SEAL TE90O0O - Grease (Replaces 21220158) A1807 21220158
AHO0302 OIL SEAL RED TM - Qil/Grease A1902 21200321
AHO0303 OIL SEAL GREEN TM - Grease A1903 21200321B
AH0304 OIL SEAL BLACK TM/LM - Grease (Replaces 21200321A) A1904 21200321A
AHO0305 OIL SEAL ROR U SERIES EQUIV Al1473 99118001
AHO0306 OIL SEAL ROR U SERIES EQUIV A1475 21016330
AHO0320 OIL SEAL - York Tec, 2000 A1984 Y786114
AHO0321 OIL SEAL (GREASE) YORK EQUIV A1979 Y502776
AHO0322 OIL SEAL (GREASE) YORK 160 EQUIV A1980 Y501118
AHO0340 OIL SEAL - 140mm x 160mm x 13mm (SAF) A5130 4373001000
AHO0341 OIL SEAL - 117mm x 152mm x 25mm (SAF) A5138 4373003500

Page 11 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AHO0342 OIL SEAL SAF 9000 SERIES EQUIV A5135 4373000500
AHO0343 OIL SEAL SAF EQUIV A5136 4373003400
AHO0360 OIL SEAL 100 Tooth (CF, SMB) A5813 CF103060
AHO0361 OIL SEAL - Qil/Grease (CF, P, PS, PSL) A5901 MO008891
AH0362 OIL SEAL UNITISED FRUEHAUF A1901 AJA0564/001
AHO0365 OIL SEAL FRUEHAUF EQUIV KLTHO0172 CF103947, M200021-01, M910021-01
AHO0366 OIL SEAL FRUEHAUF EQUIV KLTHO0173 CF103948, M200021-02,
AHO0367 OIL SEAL FRUEHAUF EQUIV KLTHO174 CF103949, M200021-03
AHO0368 OIL SEAL BPW 8-9T EQUIV KLTHO177 256646800
AHO0370 OIL SEAL (GREASE) ROR EQUIV A1909 99042026
AHO0380 OIL SEAL BPW 6-5-9T EQUIV A3600 256642657
AHO0381 OIL SEAL BPW 13-14T EQUIV A3610 256646457
AHO0382 OIL SEAL BPW 10-12T EQUIV A3605 256644657
AHO0383 OIL SEAL BPW 135IDx1570Dx 8mm A9711 0256645800
AHO0390 OIL SEAL STEMCO TRAILOR EQUIV A8203 6502085P
AHO0395 OIL SEAL STEFA TRAILOR EQUIV A8206 6502085P
Wheel Bearings
AHO0501 BEARING 641-632/ 99041025 A1430 641-632 /99041025
AHO0502 BEARING 665-653/ 99041034 A1470 665-653 /99041034
AHO0503 BEARING 33213/ 99041045 A1720 33213 /99041034
AHO0504 BEARING 218248/210 / 99041035 A1790 218248-218210 / 99041035
AHO0505 BEARING 32310 /99041068 A8900 32310 /99041035
AHO0506 BEARING 33116 / 99041067 A8907 33116 /99041067
AHO0507 BEARING ROR 99041075 EQUIV A1997 99041075
AHO0520 BEARING 518445/518410 - CF100135 A5800 518445-518410 / CF100135
AHO0521 BEARING HM218248/218210E - CF100135 A5811 HM218248-218210E / CF100135
AHO0529 BEARING 32924 A5260 32924
Brake & Cam Repair Kits & Accessories
AHO0546 SEAL KIT SMB M077010 / M100519 KLTHO068 MO077010 / M100519
AH0708 GASKET FOR HUB CAP (AH0950) A1680 21211378 / CF100432
AHO0709 GASKET (OIL FILLED) 21042 21021002
AH0720 LOCKWASHER REPL TES000 A1692 21221061
AHO0735 AXLE LOCKING NUT LM A1992 21224762
AH0950 HUB CAP TM (6 Bolt) A1820 21202627, CF100496
AH0960 HUB CAP c-w O-RING (SMB) A5832 MO044554, XCM0641-001
AH0970 HUB CAP PLASTIC C/W BUNG (PROPAR) A5830 AJA0492/001 / CF100008
AH0990 AXLE NUT KIT Replaces AXL105 (TM) Al1715 AXL105
AH0991 AXLE NUT KIT Replaces AXL104 (TE) QF A1694 AXL104
AK0001 BRAKE KIT Replaces AXL106 STD A1706 AXL106
AK0002 s ~A'L.., BRAKE KIT Replaces AXL126 (S/S Bushes) QF A1707 AXL126
AKO003 & o 5’ ;§ sﬁ? BRAKE KIT Replaces AXL125 QF Al1748 AXL125
AKO0004 o0 QO.—“"’ BRAKE KIT Replaces AXL117 QF Al1749 AXL117
AKO005 Q Q gl BRAKE KIT QF Al1767
AKO0006 _—~_ c—"o BRAKE KIT Replaces AXL126 QF A1768 AXL126
AKO0007 Brake Kit LM (Solid Cam Roller) AP125

Page 12 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AKO008 BRAKE KIT Replaces AXLLM4 (2 Piece Cam Rollers) KLTHO0120 AXLLM4
AKO009 ANCHOR PIN KIT A1601
AKO0050 BRAKE KIT (2 SHOES) SAF A5778
AKO0051 BRAKE KIT 300mm (2 SHOES) SAF A5779
AK0052 BRAKE KIT 300mm (2 SHOES) SAF KLTHO0420
AKO101 BRAKE KIT (X2) 420X180/200 Q/F 95- BPW KLTHO264
AKO500 = 0 CAMSHAFT REPAIR KIT (ROR TM) A1809 AXL112
AKO501 = = CAM BUSH KIT Replaces AXL132 A1817 AXL132
AK0502 == =) ) CAM BUSH KIT Replaces AXL122 A1851 AXL122
AKO0503 camp—> @ CAM BUSH KIT Replaces AXL140 KLTHO408U AXL140
AKO0521 a—ad - ; GENUINE CAMSHAFT KIT AXL132 A1668 AXL132
AK0522 e GENUINE CAM BUSH KIT AXL122 A1669 AXL122
AK0523 GENUINE CAM BUSH KIT AXL140 ROR KLTHO0408 AXL140
AKO550 SAF TYPE CAMSHAFT KIT POST 1984 A5765
AKO551 CAM BUSH KIT Replaces SAF 3268003400 (x2) KLTHO0021 3268003400
AKO0552 CAM BUSH KIT Replaces SAF 3434363900 (x2) KLTHO0247 3434363900
AK0553 0 O o 00 CAM BUSH KIT (x2) SAF 3434364000 EQUIV KLTH0227 3434364000
AKO600 CAM BUS KIT Replaces. YORK Y534601 A1643 Y534601
AKO0601 QO/CM') CAM BUSH KIT YORK 2000 L/Loader A1645
AKO0602 g ) v CAM BUS KIT (HENDRICKSON) REPL Y534602 A1651 Y534602, CF103722
AK0650 CAM BUSH KIT CF A5925 CF101496
AKO0651 CAM BUS KIT CF (x2) KLTHO056 MO050147
AKO700 CAM BUSH KIT Replaces BPW 0980102220/2130 A9569 0980102130
AKO701 CAM BUSH KIT (x2) Replaces BPW 0980106090 KLTH0041 0980106090
AKO0702 CAM BUSH KIT (x2) Replaces BPW 0980106091 KLTH0248 0980106091
Brake Accessories
AP0001 SHALLOW GROOVE ANCHOR PIN A1600 21020039
AP0002 ANCHOR PIN BUSH STAINLESS STEEL A1603 21221028
AP0003 ANCHOR PIN BUSH BI-METAL BUSH A1605 21016666A
AP0004 _ WASHER FOR ANCHOR PIN (A1600) A1606 21016719 // MO03087
AP0OO05 = l \ BRAKE SPRING 30/5/212MM A1607 21023389
AP0006 j( v j ¥ BRAKE SPRING 30/5/158MM A1608 21022348
AP0007 d B BRAKE SPRING 35/5/227MM A1609 21221224
AP0008 M PIN FOR RETURN SPRING (STD) A1610 21006614
AP0009 RETAINING PIN (FOR AP0007) QF A1611 21220171
AP0010 BRAKE SPRING 36/5/168MM LL A1613 21220859
AP0011 CAM ROLLER 1.1-4 DIA A1615 21006610
AP0012 CIRCLIP FOR AP0001 A1650 99070008
AP0013 SPHERICAL BEARING ASSY 9000 CAM BKT A1811 15213430
AP0014 CAM BUSH BRONZE STEPPED A1812 21209990
AP0O15 CAM SUPPORT BEARING A1840 15220224
AP0016 SLACK ADJ SPRING 22/4/175MM A1848 21210215, 0539726030
AP0017 ANCHOR PIN (E-CLIP TYPE) A1860 21205204
AP0018 ,’aﬁ ’ .. E CLIP (FOR AP0017) A1870 99504001
AP0020 < - FAIL-SAFE ANCHOR PIN (SOLID) A2836 CF103445

Page 13 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
AP0021 ’\;\: \\ RETAINER SPRING 20/3/148MM A3020 21205194
AP0022 g ANCHOR PIN SER 1lI A3030 21205193
AP0023 ANCHOR PIN C/W O-RINGS A3035 15215562
AP0024 CAM ROLLER RETAINING CLIP A3040 21023758
AP0025 BRAKE SPRING 26/4/225MM A5220 1447003800 / CF102245
AP0026 SLACK ADJ SPRING 22/4/175MM A5410 1447003600 / CF102377 / CF1023772
AP0027 CAM ROLLER ASSY Replaces 15226262 KLTHO033 15226262
AP0028 A/PIN & BUSH Replaces 15226632 KLTHO034 15226632
AP0029 CAM SUPPORT BUSH KLTHO166 A23105Q1213/
AP0030 CAM SUPPORT BUSH Replaces SAF 3268004600/800 KLTH0228 3268004600 / 3268004800
AP0031 = g CAM SUPPORT BUSH ASSY KLTHO0229 3268004500
AP0032 \' j\‘ BUSH BRONZE (Hendrickson Type) A1511 Y503087
AP0033 ¥ é“ i )”' Brake Ret Spring BPW 18/3/128mm KLTHO054 0339733070
AP0034 - Brake Ret Spring BPW 18/3/121mm KLTHO055 0339733060
AP0035 M RETAINER SPRING CLIP A5737 1151000800
AP0036 CAM ROLLER A5736 1265001900
AP0037 BRAKE RETURN SPRING A5738 1447005800
AP0038 STEEL BALL (40MM) A5725 4199100200
AP0039 CAM ROLLER (YORK) A1830 Y500356
AP0050 RETURN SPRING BPW A9595 0539758030
Air Brake Valves, Chambers, Parts & Accessories
BA0001 PARK VALVE ASSEMBLY 1/4BSP B7100
BA0002 SHUNT VALVE ASSEMBLY 1/4BSP B7105
BA0003 ) PARK VALVE ASSEMBLY M16 B7106 41206009
BA00O04 »k‘lti SHUNT VALVE ASSEMBLY M16 B7107 41206010
BA0010 N SHUNT VALVE ASSEMBLY (BLUE) HALDEX TYPE KLTC0231
BA0O11 *‘«t/\?"y PARK VALVE ASSEMBLY (RED) HALDEX TYPE KLTC0232
BA0015 SHUNT VALVE ASSEMBLY (BLUE) HALDEX A5983
BA0OO16 PARK VALVE ASSEMBLY (RED) HALDEX A5984
BA0020 COMBINED PARK & SHUNT VALVE (HALDEX) AB145
BA0021 COMBINED PARK & SHUNT VALVE (WABCO) AB146
BA0100 LOAD SENSING VALVE (HALDEX) M8443
BA0143 LINKAGE TO FIT HEIGHT CONTROL VALVE P3515
BA0186 DAF TYPE + TRAILER L.S.V RELAY KLTC0068 4757120000
BA0630 SENSOR CABLE & BUSH 500mm STRAIGHT 950364506 950364506
BA0631 SENSOR BUSH 8997598154 8997598154
BA0636 SENSOR CABLE & BUSH 400mm 90 DEG AB36 21213034, 4410329212
BA0637 SENSOR CABLE & BUSH 1000mm 90 DEG AB37 4410329222
BA5000 REPL MULTI CIRCUIT PROTECTION VALVE AE4604 AE4604 AE4605
BA5010 REPL LEVELLING VALVE DAF/SCANIA SV1303 SVv1303 SV1303
BA5020 REPL MultiCircuit Protection Valves AE4613 AE4613 AE4613
BA5030 REPL MULTI CIRCUIT PROTECTION VALVE AE4605 AE4605 AE4605
BA5040 REPL RELAY VALVE RE6 281672 281672 281672
BA5050 REPL AIR DRYER DAF LA8284 LA8284 LA8284
BA5060 REPL MULTI CIRCUIT PROTECTION VALVE AE4528 AE4528 AE4528

Page 14 of 44




Page 15 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
BA5070 — CLUTCH SERVO DAF 1443524 1443524 1443524
BA5080 RELAY VALVE (DAF/MAN/MERC) 9730112000 9730112000 / 9730112007
BA5090 LEVELLING VALVE SV1395 4640060020 4640060020
BZ5000 DESSICANT CARTRIDGE WABCO 4324102227 4324102227
BB0005 TYPE 12 METRIC SINGLE BRAKE CHAMBER AB627 CF152361
BB0006 TYPE 16 METRIC SINGLE BRAKE CHAMBER KLTC0445 120434203
BB0O00O7 TYPE 20 METRIC SINGLE BRAKE CHAMBER A2672 120340203
BB0O008 TYPE 24 METRIC SINGLE BRAKE CHAMBER A2670 120351101
BB0O009 TYPE 30 METRIC SINGLE BRAKE CHAMBER A2659 120360201
BB0013 TYPE 24 IMPERIAL DOUBLE BRAKE CHAMBER A2685 121150003
BB0020 - .\ T20/24 METRIC SPRING BRAKE 57MM AB25 B6072, 2024-GC-M
BB0022 . T T24/24 METRIC SPRING BRAKE 64mm AB494 B6160, 2424-GC-LS-M
BB0024 : T24/30 MET LS SPRING BRAKE 64mm B0155U ABG6, B6155, 2430-GC-LS-M
BB0026 T24/30 MET XLS SPRING BRAKE 76mm B0157U AB7, B6157, 2430-GC-XLS-M
BB0028 T30/30 METRIC SPRING BRAKE 64mm B0172U BX7611 / 3030GCMLS
BB0050 T16/24 DISC BRAKE CHAMBER (BPW/SAF Type) AB85 0544440010
BB0060 T20/24 DISC BRAKE CHAMBER (Meritor Type) AB86 41224965
BB0065 T24/24 DISC BRAKE CHAMBER (Meritor Type) AB87 41225080
BB0070 T20/24 DISC BRAKE CHAMBER (BPW Type) 0544444010 0544444010 / 0544444020
BB0075 T24/24 PISTON BRAKE CHAMBER (BPW Type) 0544446010 0544446010 / 0544446020
BB0080 T20/24 PISTON BRAKE CHAMBER (BPW Type) 0544443010 0544443010 / 0544443020
BB0100 T30/30 TRUCK SPRING BRAKE AB20 8901103530
BB0105 T16/24 TRUCK SPRING BRAKE AB21 8901103470
BB0110 T30/24 TRUCK SPRING BRAKE AB22 8901103520
BB0115 T30/24 HINO TYPE REAR SPRING BRAKE (4 STUD) AB376
BB0120 T24/24 HINO TYPE FRONT SPRING BRAKE AB377
BB0125 T20/24 TRUCK SPRING BRAKE AB386 8901103480
BB0130 T24/24 TRUCK SPRING BRAKE AB4 8901103500
BB0135 T24/30 TRUCK SPRING BRAKE AB5 8901103510
BB0195 IVECO 75 SERIES REAR BRAKE CHAMBER R AB65
BB0300 24/30 Disc Brake Chamber Rear (Scania 4 & R) 1427480
BB0310 24/14 Disc Brake Chamber Front (Scania 4 & R) 1383090
BB0922 T9 SERVICE DIAPHRAGM STD A0015 8971204954
BB0923 T12 SERVICE DIAPHRAGM STD A0020 8971205054
BB0924 T16 SERVICE DIAPHRAGM STD A0776 8971205104
BB0925 T20 SERVICE DIAPHRAGM STD A0777 8971205204
BB0926 T24 SERVICE DIAPHRAGM STD A0778 8971205304
BB0927 T30 SERVICE DIAPHRAGM STD A0810 8971205404
BB0928 T36 SERVICE DIAPHRAGM STD A0811 8971205504
BB0934 T16 DIAPHRAGM L/S A2686 8971205164
BB0935 T20 DIAPHRAGM L/S A2687 8971205264
BB0936 T24 DIAPHRAGM L/S A2688 8971205364
BB0937 T30 DIAPHRAGM L/S A2689 8971205461
BC0490 RUBBER AIR HOSE 3-8ID 60FT A0550
BC0491 RUBBER AIR HOSE 1-2ID 60FT A0560




Page 16 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
BC0492 RUBBER AIR HOSE 13MM-ID 20MTR A0566
BCO500 C COUPLING MALE - 1/2NPT A0100
BCO501 C COUPLING MALE - 1/2NPT (IR) A0111
BC0502 C COUPLING MALE - M22 A0105
BC0503 C COUPLING MALE - M22 (IR) AO0116
BCO504 C COUPLING FEMALE - 1/2NPT A0110
BCO505 C COUPLING FEMALE - 1/2NPT (IR) A0112
BCO506 C COUPLING FEMALE M22 A0115
BCO507 C COUPLING FEMALE M22 (IR) A0117
BCO508 SELF SEALING VALVE 1/2NPT A0130 CF350139
BC0509 SELF SEALING VALVE 1/2NPT (IR) AO0130IR
BCO510 SELF SEALING VALVE M22 A0135 CF351451
BCO511 - SELF SEALING VALVE M22 (IR) A0135IR
BCO512 F = SELF-SEALING VALVE 1/2NPT A0140 CF350137
BCO513 tJ SELF-SEALING VALVE 1/2NPT (IR) AO0140IR
BCO514 SELF SEALING VALVE M22 A0145 CF351454
BCO515 SELF SEALING VALVE M22 (IR) AO0145IR
BCO516 OPERATING SLEEVE 1/2NPT A0275
BCO517 OPERATING SLEEVE 1/2NPT (IR) A0274
BCO518 OPERATING SLEEVE M22 A0276
BC0519 OPERATING SLEEVE M22 (IR) A0277
BCO530 C COUPLING FEMALE ASSEMBLY M22 (RED) KLTCO161 CF352746
BC0531 C COUPLING MALE M22 (RED) KLTC0162 CF352747
BC0532 C COUPLING MALE ASSEMBLY M22 (YELLOW) KLTCO163 CF352748
BC0533 C COUPLING FEMALE ASSEMBLY M22 (YELLOW) KLTCO164 CF352749
BCO534 C COUPLING FEMALE ASSEMBLY M16 (RED) KLTC0282
BC0535 C COUPLING MALE M16 ASSEMBLY (YELLOW) KLTC0283
BC0540 C COUPLING FEMALE ASSEMBLY M22 (RED) AB754
BC0541 C COUPLING MALE M22 (RED) AB750
BC0542 C COUPLING MALE ASSEMBLY M22 (YELLOW) AB752
BC0543 C COUPLING FEMALE ASSEMBLY M22 (YELLOW) AB751
BC0544 C COUPLING FEMALE ASSEMBLY M16 (RED) AB756
BCO545 C COUPLING MALE M16 ASSEMBLY (YELLOW) AB755
BCO585 PALM COUPLING 1/2 BSP W/O COVER A0096
BCO586 PALM COUPLING M22 W/O COVER A0467
BCO587 PALM COUPLING SEAL FOR BC0585/586 A0153
BCO590 PALM COUPLING RED M16 A0082 4522000210
BC0591 PALM COUPLING YELLOW M16 A0084 4522000220
BC0592 PALM COUPLING RED M22 A0091 4522000110
BC0593 PALM COUPLING YELLOW M22 A0092 4522000120
BC0594 PALM COUPLING RED M16 c-w Self Sealing Valve A0087 9522002210
BC0595 PALM COUPLING YELLOW M16 c-w Self Sealing Valve A0089 9522002220
BCO596 PALM COUPLING RED M22 c-w Self Sealing Valve A0093 4522002110
BC0597 PALM COUPLING YELLOW M22 c-w Self Sealing Valve A0094 4522002120
BCO700 SHUT OFF COCK C/W AIR RELEASE (M22) B8037 452002100, 4520021000




Page 17 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
BC0703 SHUT OFF COCK 1-2 BSP A0640
BC0710 IN LINE FILTER (M22) A0645 4325000000
BC0720 DOUBLE CHECK VALVE (M16) A4410 1111419000
BC0730 DRAIN VALVE W/O CABLE (M22) A6865 CF351005
BC0750 2 PORT QRV M16 A5994 CF352780
BCO751 2 PORT QRV M22 A5981 9735000000
BC0752 2 PORT QRV M22 SUPPLY M16 DEL AB90
BCO753 2 PORT QRV 1/2'" SUPPLY 3/8'" DEL A5991 CF351637, 208002031
BC0760 4 PORT QRV M16 A5992 208003011
BC0761 4 PORT QRV M22 A5993 CF351465
BC0762 4 PORT QRV M22 SUPPLY M16 DEL A5979 CF350944
Air Line Coils & Accessories
BC0001 16T (3M) AIR COIL RED 1/2BSP A0040 CF3502453
BC0002 16T (3M) AIR COIL YELLOW 1/2BSP A0050 CF3502466
BC0010 22T (4.5M) AIR COIL RED 1/2BSP A0051 CF350995
Bcoo11 Wil 22T (4.5M) AIR COIL YELLOW 1/2BSP A0052 CF350996
BC0012 W 4 "Ju\ 22T (4.5M) AIR COIL RED M16 A0043
BC0O013 Q"\ ) 22T (4.5M) AIR COIL YELLOW M16 A0044
BC0014 22T (4.5M) AIR COIL RED M22 A0047
BC0O015 22T (4.5M) AIR COIL YELLOW M22 A0048
BC0200 20T (4M) BLACK/RED AIR COIL M18L/M16 MAN A0018
BC0201 20T (4M) BLACK/YELLOW AIR COIL M18L/M16 MAN A0019
BC0202 20T (4M) BLACK/RED AIR COIL M18SF/M16 MERC A0021
BC0203 20T (4M) BLACK/YELLOW AIR COIL M18SF/M16 MERC A0022
BC0204 20T (4M) BLACK/RED AIR COIL M18x34L M16 SCANIA/IVE A0023
BC0205 2 & 20T (4M) BLACK/YELLOW AIR COIL M18x34L M16 SCANIA/ A0024
BC0206 * 4_ 20T (4M) BLACK/RED AIR COIL M16/M16 VOLVO/RENAULT A0026
BC0207 20T (4M) BLACK/YELLOW AIR COIL M16/M16 VOLVO/RENAU A0027
BC0300 20T (4M) BLACK/RED AIR COIL M18 Female Nuts A0237 CF352337
BC0301 20T (4M) BLACK/YELLOW AIR COIL M18 Female Nuts A0238 CF352338
BC0302 22T (4.5M) BLACK/RED AIR COIL M18 Female Nuts A0239 CF352339
BC0303 22T (4.5M) BLACK/YELLOW AIR COIL M18 Female Nuts A0240 CF352340
BC0395 Ends to fit (BC300-BC0303) M18 x M18L 34mm A0246
BC0396 Ends to fit (BC300-BC0303) M18 X M16L 34mm A0244 CF352334
BC0397 Ends to fit (BC300-BC0303) M18 X 1/2BSP A0243 CF352229
BC0398 Ends to fit (BC300-BC0303) M18 X M22 A0242 CF352230
BC0399 Ends to fit ((BC300-BC0303) M18 X M16 A0241 CF352231
BC0402 24T (4M) BLACK/RED M18 Female Ends ( Narrow mand
BC0403 24T (4M) BLACK/YELLOW M18 Female Ends (Narrow mand
BC0412 24T (4M) BLACK/RED M16 Male Ends ( Narrow mandre
BC0413 24T (4M) BLACK/YELLOW M16 Male Ends (Narrow mandre
BC0422 24T (4M) BLACK/RED M22 Male Ends ( Narrow mandrel
BC0423 24T (4M) BLACK/YELLOW M22 Male Ends (Narrow mandre
BC0452 24T (4M) BLACK/RED 1/2"BSP Male Ends ( Narrow man AB476
BC0453 24T (4M) BLACK/YELLOW 1/2'""BSP Male Ends (Narrow m AB477




Page 18 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
Air Spring Assemblies
AS4000 A/SPRING EQUIV 810MB P1000 WO01-M58-6345 / 15635 / IT19-E1 /
AS4010 A/SPRING EQUIV 811MB P1268 W01-M58-6334 / 15907 / IT19-E2 /
AS4020 A/SPRING EQUIV 813MB P1010 WO01-M58-6334 / 15634 / IT19-E2 /
AS4050 A/SPRING BPW EQUIV 881MB PLASTIC (BPW3881) KLTJ0252 0542943510/ 16917 /
AS4060 A/SPRING BPW EQUIV 940MB PLASTIC (BPW3940) P1444 0542941231/ 16919/
AS4070 A/SPRING BPW EQUIV 941MB PLASTIC (BPW9341) KLTJ0254 0542940281 /16918 /
AS4080 A/SPRING BPW EQUIV 4881NP02 PLASTIC (BPW4881) WO01-M58-8666 / 16905 /
AS4100 A/SPRING SAF EQUIV 4004NP03 P1264 W01-M58-6366 / 15651 /
AS4110 A/SPRING SAF EQUIV 4022NP03 P1474 WO01-M58-6367 / 16099 /
AS4120 A/SPRING SAF EQUIV 4810NP05 KLTJ0060 W01-M58-6338 / 16092 /
AS4130 A/SPRING SAF EQUIV 4023NP03 P1475 WO01-M58-6348 / 16091 /
AS4200 A/SPRING CF/ROR EQUIV 4156NP09 P1130 W01-379-9089 / W01-M58-9089 / 15615
AS4210 A/SPRING CF EQUIV 4159NP06 P1100 W01-M58-8859 / W01-379-9091 / 15617
AS4220 A/SPRING CF/MONT EQUIV 4159NP03 P1031 W01-358-9130 / 16008
AS4250 A/SPRING SCHMITZ/WEWELER EQUIV 4158NP03 P1471 WO01-M58-8185 / W01-M58-6285 / 15657
AS4260 A/SPRING WEWELER EQUIV 4157NP04 P1030 W01-M58-6297 / W01-M58-7364 / 15731
AS4270 A/SPRING SCHMITZ/WEWELER EQUIV 4028NP02 KLTJO165 WO01-M58-8106 / 93002
AS5000 A/SPRING SERVICE ASSY MB ACTROS EQUIV 4390 N1 KLTJ0265 A942 328 00 01 /93904
AS5010 A/SPRING MB ACTROS EQUIV 4390 NPO1 P1452 A942 3200121/ A942 32049 21 / 15956
AS5020 A/SPRING SERVICE ASSY MB ACTROS EQUIV 4390 N2 A942 328 01 01 /93905
AS5030 A/SPRING MB ACTROS EQUIV 4390 NPO2 P1453 A942 32002 01/ A942 32050 21 / 15957
AS5040 A/SPRING MB ACTROS EQUIV 4757 NPO1 P1456 W01-M58-8521 / A942 32001 17 / 15962
AS5050 A/SPRING MB ACTROS EQUIV 4757 NPO9 P1457 A942 32002 17 / A942 32032 21/ 16160
AS5060 A/SPRING MB ACTROS EQUIV 4838NP01 P1459 A946 320 04 21 / A942 320 38 21 / 15963
AS5070 A/SPRING DAF EQUIV 836MK1 P1440 WO01-D08-8707 / W01-M58-7022 / 17066
AS5080 A/SPRING DAF EQUIV 836M2K1 P1273 W01-M58-8721 / 15996
AS5100 A/SPRING SCANIA EQUIV 4813NP07 P1022 W01-M58-7358 / W01-S05-7358 / 15653
AS5110 A/SPRING SCANIA EQUIV 4913NP02 P1092 W01-M58-8098 / W01-095-0500 / 16105
AS5150 A/SPRING RENAULT EQUIV 4912NP07 KLTJ0132 W01-M58-8786 / 16046
AS5200 A/SPRING VOLVO EQUIV 4713NP02 KLTJ0167 W01-M58-9707 / 16048
AS5210 A/SPRING VOLVO EQUIV 6608NP0O1 20374510 / 20531985 / 92500
AS5220 A/SPRING VOLVO EQUIV 6607NP01 20374511 /20531987 /93911
AS5230 A/SPRING VOLVO EQUIV 6605NP01 P1096 20582206 /




Page 19 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
Manual Trailer Slack Adjusters & Accessories
BB0950 SLACK ADJUSTER 4 HOLE IMPERIAL POZILOCK A0170 102060001
BB0951 SLACK ADJUSTER 4 HOLE IMPERIAL M19 HEX-LOCK A0172 21219998 /100101042
BB0952 SLACK ADJUSTER 4 HOLE METRIC M19 HEX-LOCK A0173 21219681/
BB0953 SLACK ADJUSTER 4HOLE METRIC POZILOCK A0175 102172001
BB0954 SLACK AdJUSTER 19MM HEX. FRUEHAUF A0177 100014750
BB0960 SLACK ADJUSTER BPW A3450 0517465130
BB0980 16MM EXT. CLEVIS C/W 14MM PIN A0758 CF352275
BB0981 5/8" CLEVIS ASSY C/W 1-2 PIN A0760 CF350221
BB0982 5/8" CLEVIS ASSY C/W 14MM PIN A0761 CF351132
BB0983 16MM CLEVIS ASSY C/W 1-2 PIN A0762 CF351056
BB0984 16MM CLEVIS ASSY C/W 14MM PIN A0763 CF351052
BB0988 14MM FULCRUM PIN COMP SPLT PIN A0764 CF352328
BB0989 1/2" FULCRUM PIN COMP SPLT PIN Al1274 CF700001
Air Brake Fittings & Accessories
BC1000 METAL MALE STUD ( M4-4mm )
BC1001 METAL MALE STUD ( M5-4mm )
BC1002 METAL MALE STUD ( M6-4mm )
BC1003 METAL MALE STUD (1/8'"x4mm )
BC1004 METAL MALE STUD (1/8"x6mm)
BC1005 METAL MALE STUD (1/4"x6mm )
BC1006 METAL MALE STUD ( 3/8"x6mm)
BC1007 METAL MALE STUD (1/8'"x8mm )
BC1010 METAL MALE STUD ( 3/8"x8mm)
BC1011 METAL MALE STUD ( 1/4"x10mm)
BC1012 METAL MALE STUD ( 3/8"x10mm )
BC1013 i METAL MALE STUD (1/4"x12mm)
BC1014 ) METAL MALE STUD ( 3/8"x12mm)
BC1020 METAL STRAIGHT CONNECTOR (4mm)
BC1021 METAL STRAIGHT CONNECTOR (5mm )
BC1022 METAL STRAIGHT CONNECTOR (6mm )
BC1023 METAL STRAIGHT CONNECTOR (7mm)
BC1024 METAL STRAIGHT CONNECTOR (8mm )
BC1025 METAL STRAIGHT CONNECTOR (9mm )
BC1026 METAL STRAIGHT CONNECTOR(10mm)
BC1027 METAL STRAIGHT CONNECTOR(11mm )
BC1028 METAL STRAIGHT CONNECTOR(12mm)
BC1029 METAL STRAIGHT CONNECTOR  (13mm)
BC1030 METAL STRAIGHT CONNECTOR(14mm )
BC1031 METAL STRAIGHT CONNECTOR(15mm )
BC1032 METAL STRAIGHT CONNECTOR (16mm)
BC1040 METAL TEE CONNECTOR (4mm)




TRUCK & TRAILER PARTS LTD

X-Ref. UC

IX-Ref. OE & Other

P_art No. Product Description

BC1041 METAL TEE CONNECTOR (6mm)

BC1042 METAL TEE CONNECTOR (8mm)

BC1043 METAL TEE CONNECTOR (10mm)

BC1044 METAL TEE CONNECTOR (12mm)

BC1050 METAL MALE STUD ELBOW ( 90 Deg) ( 1/8"x4mm)
BC1051 METAL MALE STUD ELBOW (90 Deg) (1/8'"x6mm)
BC1052 METAL MALE STUD ELBOW ( 90 Deg) ( 1/4"x6mm)
BC1053 METAL MALE STUD ELBOW (90 Deg) (3/8'"x6mm)
BC1054 METAL MALE STUD ELBOW ( 90 Deg) ( 1/8"x8mm)
BC1055 METAL MALE STUD ELBOW (90 Deg) (1/4"x8mm)
BC1056 METAL MALE STUD ELBOW (90 Deg) (3/8"x8mm)
BC1057 METAL MALE STUD ELBOW (90 Deg) (1/4"x10mm)
BC1058 METAL MALE STUD ELBOW (90 Deg) (3/8"x10mm)
BC1059 METAL MALE STUD ELBOW (90 Deg) (1/4"x12mm)
BC1060 METAL MALE STUD ELBOW (90 Deg) (3/8"x12mm)
BC1070 METAL MALE STUD BRANCH TEE (1/8'"x4mm)
BC1071 METAL MALE STUD BRANCH TEE (1/8"x6émm)
BC1072 METAL MALE STUD BRANCH TEE (1/4'"x6émm)
BC1073 METAL MALE STUD BRANCH TEE ( 3/8"x6émm)
BC1074 METAL MALE STUD BRANCH TEE (1/8'"x8mm)
BC1075 METAL MALE STUD BRANCH TEE ( 1/4"x8mm)
BC1076 METAL MALE STUD BRANCH TEE (3/8'"x8mm)
BC1077 METAL MALE STUD BRANCH TEE (1/4"x10mm)
BC1078 METAL MALE STUD BRANCH TEE (3/8'"x10mm)
BC1079 METAL MALE STUD BRANCH TEE (1/4"x12mm)
BC1080 METAL MALE STUD BRANCH TEE (3/8'"x12mm)
BC1090 METAL MALE STUD TEE (1/8"x4mm)

BC1091 METAL MALE STUD TEE (1/8"x6émm)

BC1092 METAL MALE STUD TEE (1/4"xémm)

BC1093 METAL MALE STUD TEE (3/8'"x6émm)

BC1094 METAL MALE STUD TEE (1/8"x8mm)

BC1095 METAL MALE STUD TEE (1/4"x8mm)

BC1096 METAL MALE STUD TEE (3/8'"x8mm)

BC1097 METAL MALE STUD TEE (1/4"x10mm)

BC1098 METAL MALE STUD TEE (3/8'"x10mm)

BC1099 METAL MALE STUD TEE (1/4"x12mm)

BC1100 METAL MALE STUD TEE (3/8'"x12mm)

BC1110 METAL FEMALE STUD (1/8"x4mm)

BC1111 e METAL FEMALE STUD (1/8"x6mm)

BC1112 METAL FEMALE STUD (1/4"x6mm)

BC1113 METAL FEMALE STUD ( 3/8"x6mm)

BC1114 METAL FEMALE STUD (1/8"x8mm)

BC1115 METAL FEMALE STUD (1/4"x8mm)

BC1116 METAL FEMALE STUD (3/8"x8mm)

BC1117 h,_‘ METAL FEMALE STUD (1/4'"x10mm)

Page 20 of 44




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

BC1118 m

BC1119
BC1120
BC1130
BC1131
BC1132
BC1133

BC1140
BC1141 m
BC1142 ad

BC1143
BC1150

BC1151
BC1152
BC1153
BC1154 \

BC1155
BC1156
BC1157
BC1158
BC1159
BC1160
BC1161
BC1162
BC1163
BC1164
BC1165
BC1170
BC1171
BC1172
BC1173
BC1174
BC1175
BC1176
BC1177
BC1180
BC1181
BC1182
BC1183
BC1190
BC1191
BC1192
BC1193
BC1194
BC1195

.,/

X-Ref. UC

IX-Ref. OE & Other

METAL FEMALE STUD (3/8"x10mm)
METAL FEMALE STUD (1/4'"x12mm)
METAL FEMALE STUD (3/8"x12mm)
METAL REDUCER (6mm x 4mm )
METAL REDUCER (8mm x 6mm)
METAL REDUCER (10mm x 8mm )
METAL REDUCER (12mm x 10mm)
METAL MALE REDUCER (6mm x 4mm )
METAL MALE REDUCER (8mm x 6mm )
METAL MALE REDUCER ( 10mm x 8mm)
METAL MALE REDUCER (12mm x 10mm)
PLASTIC STRAIGHT CONNECTOR (4mm
PLASTIC STRAIGHT CONNECTOR (6mm
PLASTIC STRAIGHT CONNECTOR (8mm
PLASTIC STRAIGHT CONNECTOR (9mm
PLASTIC STRAIGHT CONNECTOR (10mm)
PLASTIC STRAIGHT CONNECTOR (11mm)
PLASTIC STRAIGHT CONNECTOR (12mm)
)
)
)

)
)
)
)

PLASTIC STRAIGHT CONNECTOR (14mm
PLASTIC STRAIGHT CONNECTOR (15mm
PLASTIC STRAIGHT CONNECTOR (16mm
PLASTIC TEE CONNECTOR (4mm)
PLASTIC TEE CONNECTOR (6mm)
PLASTIC TEE CONNECTOR (8mm)
PLASTIC TEE CONNECTOR (10mm)
PLASTIC TEE CONNECTOR (12mm)
PLASTIC TEE CONNECTOR (16mm)

PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC

REDUCER TEE (4mm x4mm x 6mm )
REDUCER TEE (6mm x 6mm x 4mm )
REDUCER TEE ( 8mm x 8mm x 6mm )
REDUCER TEE (6mm x 6mm x 8mm )
REDUCER TEE (8mm x 8mm x 10mm )
REDUCER TEE ( 10mm x 10mm x 8mm )
REDUCER TEE ( 10mm x 10mm x 12mm )
REDUCER TEE (12mm x 12mm x 10mm )

PLASTIC REDUCER (6mm x 4mm )
PLASTIC REDUCER (8mm x 6mm )
PLASTIC REDUCER ( 10mmx 8mm )

PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC
PLASTIC

REDUCER (12mm x 10mm)
MALE STUD ELBOW
MALE STUD ELBOW
MALE STUD ELBOW
MALE STUD ELBOW
MALE STUD ELBOW
MALE STUD ELBOW

(1/8"x4mm)
(1/8"x6mm )
(1/4"x6mm)
(3/8"x6mm)
(1/8"x8mm)
(1/4"x8mm)

Page 21 of 44

A7185
A7190
A7195
A6840
A6900
A6905
A7200
A7205
A7210

A7215
A7220

A7206

A7208

A7211

A7213

A7214




TRUCK & TRAILER PARTS LTD

IX-Ref. OE & Other

P_art No. Product Description Iﬂaf. uc
BC1196 PLASTIC MALE STUD ELBOW (9 (3/8"x8mm)

BC1197 PLASTIC MALE STUD ELBOW (9 (1/4"x10mm)

BC1198 PLASTIC MALE STUD ELBOW (9 (3/8"x10mm)

BC1199 PLASTIC MALE STUD ELBOW (9 (1/4"x12mm)

BC1200 PLASTIC MALE STUD ELBOW (90:i) (3/8"x12mm) A7217
BC1210 PLASTIC ELBOW 90: (4mm x 4mm A7230
BC1211 PLASTIC ELBOW 90: ( 6mm x 6mm) A7235
BC1212 PLASTIC ELBOW 9 (8mm x 8mm) A7240
BC1213 PLASTIC ELBOW 9 (10mm x 10mm) A7245
BC1214 PLASTIC ELBOW 9 (12mm x 12mm) A7250
BC1220 PLASTIC MALE STUD BRANCH TEE ( 1/8"x4mm)

BC1221 PLASTIC MALE STUD BRANCH TEE ( 1/8"x6mm)

BC1222 PLASTIC MALE STUD BRANCH TEE ( 1/4"x6mm)

BC1223 PLASTIC MALE STUD BRANCH TEE ( 3/8'"x6mm)

BC1224 PLASTIC MALE STUD BRANCH TEE ( 1/8"x8mm)

BC1225 PLASTIC MALE STUD BRANCH TEE ( 1/4'"x8mm)

BC1226 PLASTIC MALE STUD BRANCH TEE ( 3/8"x8mm)

BC1227 PLASTIC MALE STUD BRANCH TEE ( 1/4''x10mm)

BC1228 PLASTIC MALE STUD BRANCH TEE ( 3/8"x10mm)

BC1229 PLASTIC MALE STUD BRANCH TEE (1/4''x12mm)

BC1230 PLASTIC MALE STUD BRANCH TEE ( 3/8"x12mm)

BC1240 PLASTIC MALE STUD TEE (1/8"x4mm)

BC1241 PLASTIC MALE STUD TEE (1/8"x6mm)

BC1242 PLASTIC MALE STUD TEE (1/4"xémm)

BC1243 PLASTIC MALE STUD TEE (3/8"x6mm)

BC1244 PLASTIC MALE STUD TEE (1/8"x8mm)

BC1245 PLASTIC MALE STUD TEE (1/4"x8mm)

BC1246 PLASTIC MALE STUD TEE (3/8"x8mm)

BC1247 PLASTIC MALE STUD TEE (1/4"x10mm)

BC1248 PLASTIC MALE STUD TEE (3/8"x10mm)

BC1249 PLASTIC MALE STUD TEE (1/4"x12mm)

BC1250 PLASTIC MALE STUD TEE (3/8"x12mm)

BC1300 M12 FEMALE TEST POINT A7780
BC1301 M16 FEMALE TEST POINT A7781
BC1310 M16 MALE TEST POINT A7791
BC1311 M22 MALE TEST POINT A7792
BC1320 M16 X 13MM SWIVEL HOSETAIL A7821
BC1321 M16 X 10MM SWIVEL HOSETAIL A7820
BC1322 M18 X 14MM SWIVEL HOSETAIL A7822
BC1330 M16 TEST POINT ADAPTOR A7958
BC1340 M22 STRAIGHT ADAPTOR 12MM TUBE J2019
BC1341 M16 STRAIGHT ADAPTOR 10MM TUBE J2015
BC1342 M16 STRAIGHT ADAPTOR 12MM TUBE J2018
BC1343 M12 STRAIGHT ADAPTOR 10MM TUBE J2013
BC1344 M12 STRAIGHT ADAPTOR 6MM TUBE J2003

Page 22 of 44




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

BC1345
BC1346
BC1347
BC1348
BC1349
BC1350
BC1360
BC1361
BC1362
BC1370
BC1380
BC1381
BC1382
BC1383
BC1384
BC1385
BC1386
BC1387
BC1390
BC1400
BC1401
BC1402
BC1403
BC1404
BC1405
BC1406
BC1407
BC1408
BC1409
BC1410
BC1411
BC1420
BC1421
BC1422
BC1430
BC1431
BC1432
BC1440
BC1441
BC1450
BC1451
BC1460
BC1470
BC1471
BC1472

X-Ref. UC

IX-Ref. OE & Other

M22 STRAIGHT ADAPTOR 8MM TUBE
M22 STRAIGHT ADAPTOR 10MM TUBE
M16 STRAIGHT ADAPTOR 6MM TUBE
M10 STRAIGHT ADAPTOR 8MM TUBE
M10 STRAIGHT ADAPTOR 10MM TUBE
M16 STRAIGHT ADAPTOR 8MM TUBE
1/4TAPR BSP ST/ADPT 10MM TUBE
3/8TAPR BSP ST/ADPT 12MM TUBE
1/2TAPR BSP ST/ADPT 12MM TUBE
M22 PLUG

6MM STRAIGHT CONNECTOR

11MM STRAIGHT CONNECTOR

9MM STRAIGHT CONNECTOR

16MM STRAIGHT CONNECTOR

15MM STRAIGHT CONNECTOR

12MM STRAIGHT CONNECTOR

10MM STRAIGHT CONNECTOR

8MM STRAIGHT CONNECTOR

6MM TUBE CONNECTOR M15 B/HEAD
M12 HOBBS ELBOW ADPT 10MM TUBE
M16 HOBBS ELBOW ADPT 10MM TUBE
M12 HOBBS ELBOW ADPT 6MM TUBE
M22 HOBBS ELBOW ADPT 10MM TUBE
M14 HOBBS ELBOW ADPT 10MM TUBE
M12 HOBBS ELBOW ADPT 8MM TUBE
M22 HOBBS ELBOW ADPT 8MM TUBE
M16 HOBBS ELBOW ADPT 8MM TUBE
M16 HOBBS ELBOW ADPT 6MM TUBE
M16 HOBBS ELBOW ADPT 16MM TUBE
M22 HOBBS ELBOW ADPT 12MM TUBE
M16 HOBBS ELBOW ADPT 12MM TUBE
EQUAL TEE 8MM

EQUAL TEE 12MM

EQUAL TEE 10MM

M12 HOBBS TEE ADAPTOR

M22 HOBBS TEE ADAPTOR

M16 HOBBS TEE ADAPTOR

M16 HOBBS SIDE TEE ADAPTOR

M22 HOBBS SIDE TEE ADAPTOR

PKT 10 THRUST & O RINGS M16

PKT 10 THRUST & O RINGS M22

5/8 STRAIGHT COMP COUPLING

M12 X10MM TUBE ELBOW STUD CPLG
M16 X12MM TUBE ELBOW STUD CPLG
M16 X10MM TUBE ELBOW STUD CPLG

Page 23 of 44

J2011
J2016
12005
12007
12012
J2010
12032
2036
12037
12044
J2061
2065
12063
2068
12067
12066
12064
12062
12070
J2106
J2108
2099
J2109
J2107
12102
J2104
J2103
J2100
J2112
J2111
J2110
J2129
J2131
J2130
12147
12149
12148
J2150
J2151
A6515PK
A6615PK
A6035
A6810
A6550
A6625




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

BC1473
BC1474
BC1480
BC1481
BC1482
BC1490
BC1491
BC1492
BC1500
BC1510
BC1511
BC1520
BC1521
BC1522
BC1530
BC1531
BC1540
BC1541
BC1542
BC1543
BC1550
BC1560
BC1570
BC1580
BC1581
BC1582
BC1590
BC1591
BC1592
BC1600
BC1610
BC1620
BC1630
BC1640

X-Ref. UC

IX-Ref. OE & Other

M22 X16MM TUBE ELBOW STUD CPLG
M22 X10MM TUBE ELBOW STUD CPLG
M16 X 12MM TUBE STUD COUPLING
M22 X 12MM TUBE STUD COUPLING
M22 X 10MM TUBE STUD COUPLING
M16X1/4 MALE / FEMALE ADAPTOR
M16XM22 MALE / FEMALE ADAPTOR
M22X1/2 MALE / FEMALE ADAPTOR
M22 X15MM TUBE ELBOW STUD CPLG
M22 X10MM TUBE BLKHD STUD CPLG
M22 X12MM TUBE BLKHD STUD CPLG
M22 X M22 MALE / MALE ADAPTOR
M16 X M16 MALE / MALE ADAPTOR
M16 X M22 MALE / MALE ADAPTOR
8MM OD TUBE INSERT

9MM OD TUBE INSERT

12MM STRAIGHT COMP COUPLING
15MM STRAIGHT COMP COUPLING
16MM STRAIGHT COMP COUPLING
18MM STRAIGHT COMP COUPLING
M16 X 13MM ID HOSETAIL
M16x10MM TUBE TEST POINT TEE
10MM TUBE EQUAL TEE COUPLING
M22 X M16 MALE/FEMALE ADAPTOR
M16 MALE / FEMALE ELBOW

M22 MALE / FEMALE ELBOW

M22 X M22 BULKHEAD ADAPTOR

M16 X M22 BULKHEAD ADAPTOR

M16 X M16 BULKHEAD ADAPTOR
12MMSTRAIGHT BULKHEAD COUPLING
10MM ELBOW BULKHEAD COUPLING
M22XM22 FEMALE/FEMALE ADAPTOR
10MM TUBE /STEM ELBOW COUPLING
10MM EQUAL ELBOW COUPLING

Page 24 of 44

A6516
A6565
A6545
A6585
A6580
A6535
A6911
A7090
A6575
A6595
A6590
A6860
A6620
A7660
A6675
A6685
A6895
A6690
A7115
A7502
A6820
A6815
A7050
A6910
A7345
A7640
A7035
A7382
A7380
A7472
A7482
A7565
A7721
A7512




TRUCK & TRAILER PARTS LTD

Page 25 of 44

P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
Air Resevoirs & Accessories

BT0001 AIR RESVR END MNT 38.5L (IMP) A1300

BT0002 AIR RESVR END-MNT 38L (MET) A1302

BT0003 AIR RESVR END-MNT 36L C/F TYP (IMP) A1310

BT0004 AIR RESVR END MNT 45L (MET) A1312

BT0005 AIR RESVR END MNT 50L 5 PORT (MET) A1313

BT0006 AIR RESVR END MNT 60L (MET) A1314

BT0101 AIR RESVR SIDE-MNT 19.2L (MET) A1303

BT0102 AIR RESVR SIDE MNT 60L (MET) A1305

BT0103 AIR RESVR SIDE MNT 50L (MET) A1306

BT0200 AIR RESVR 60L (MET) A1301

BT0900 STRAP & SADDLE 206 MM DIA A1291

BT0901 STRAP & SADDLE 246MM DIA A1292

BT0902 STRAP & SADDLE 276 MM DIA A1293

BT0903 STRAP & SADDLE 310MM DIA A1294

BT0904 STRAP & SADDLE 396MM DIA A1295

BT0908 U-BOLT FOR AIR TANK (BT0200) A1307

BT0909 SADDLE FOR AIR TANK (BT0200) A1308

VBG Draw Bar Couplings & Accessories

BZ2000 VBG COUPLING 795VR 09-057900
Bz2010 VBG GUIDE FUNNEL 795VR 09-069700
BZ2020 VBG WEAR PLATE 795VR 09-066100
BZ2030 VBG RUBBER BLOCK KIT 795VR 09-125600
BZ2040 VBG JAW BUSH KIT 795VR 09-068400
BZ2050 VBG 57MM EYE BUSH 795VR 18-010400
BZ2060 VBG MECHANISM 795VR 09-119000
Electrical coils / ABS / EBS / Plugs & Sockets

EC0001 22T (4.5M) Coil Black 'N' Type c-w Metal Plugs KLTFO014

EC0002 22T (4.5M) Electrical Coil Green 'S' Type c-w Meta KLTF0019

EC0003 16T (3.0M) Electrical Coil Black 'N' Type c-w Meta KLTFO013

EC0004 16T (3.0M) Electrical Coil Green 'S' Type c-w Meta KLTF0O016

EC0011 22T (4.5M) Coil Black 'N' Type c-w Plastic Plugs KLTFO015

EC0012 22T (4.5M) Electrical Coil Green 'S' Type c-w Plas KLTF0018

EC0013 16T (3.0M) Electrical Coil Black 'N' Type c-w Plas KLTFO012

EC0014 16T (3.0M) Electrical Coil Green 'S' Type c-w Plas KLTFO017

EC0050 3M Electrical Coil Black 'N' Type c-w Moulded Plu EC22

EC0051 3M Electrical Coil Green 'S' Type c-w Moulded Plu EC23

EC0055 3M Electrical Coil Black 'N' Type c-w Moulded Plu A4335

EC0056 3M Electrical Coil Green 'S' Type c-w Moulded Plu A4345

EC0060 3M Electrical Coil Grey H/Duty 'N' Type c-w Mould A4355

EC0061 3M Electrical Coil Grey H/Duty 'S' Type c-w Mould A4356

EC0065 3M Electrical Coil Grey H/Duty 'N' Type c-w Mould EC42




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

EC0066 *«

EC0070
EC0071
EC0072
EC0095
ECO0100
EC0105
ECO110
ECO111
ECO0120
ECO0149
EC0150
ECO151
EC0152
ECO153
EC0158
ECO0159
ECO0160
ECO161
EC0162
ECO163
EC0168
ECO169
EC0200
EC0201
EC0202
EC0203
EC0209
EC0219

EC0220 SN\

EC0221
EC0222
EC0223
EC0231
EC0232
EC0235
EC0236
EC0239
EC0240
EC0241
EC0242
EC0243

3M 2 Core Electrical Coil c-w Moulded Plugs
3M 3 Core Electrical Coil c-w Moulded Plugs

3.5M ABS Coil c-w Plugs
3.5M EBS Coil c-w Plugs
4M EBS Coil c-w Plugs

4M 15 Core Electrical Coil (MERCEDES)
ABS Adaptor Plug/Socket 15/7 (MERCEDES)
5 Pin ABS Socket c-w Crimped Terminals

5 Pin ABS Socket c-w Screw Terminals

7 Pin EBS Socket c-w Crimped Terminals

7 Pin EBS Socket c-w Screw Terminals

15 Pin Socket c-w Screw Terminals

15 Pin ABS Socket c-w Crimped Terminals
5 Pin ABS Plug c-w Crimped Terminals

5 Pin ABS Plug c-w Screw Terminals

7 Pin EBS Plug c-w Crimped Terminals

7 Pin EBS Plug c-w Screw Terminals

15 Pin Plug c-w Screw Terminals

15 Pin Plug c-w Crimped Terminals

7 Pin 'N' Type 24V Metal Socket

7 Pin 'S' Type 24V Metal Socket

7 Pin 'N' Type 24V Plastic Socket

7 Pin 'S' Type 24V Plastic Socket

7 Pin 'N' Type 24V Metal Plug

7 Pin 'S' Type 24V Metal Plug

7 Pin 'N' Type 24V Plastic Plug

7 Pin 'S' Type 24V Plastic Plug

7 Pin 'N' Type 12V Metal Plug

7 Pin 'N' Type 12V Metal Socket

7 Pin 'N' Type 12V Plastic Plug

7 Pin 'N' Type 12V Plastic Socket

Rubber Boot To Fit Sockets

7 Pin 'N' Type 24V Metal Socket (H/Duty)
7 Pin 'N' Type 24V Metal Plug (H/Duty)

7 Pin 'S' Type 24V Metal Socket (H/Duty)

Iﬂaf. uc IX-Ref. OE & Other
3M Electrical Coil Grey H/Duty 'S' Type c-w Mould EC43
A4357
A4359
3M 10 Core Electrical Coil c-w Moulded Plugs A4358
A9330
KLTFO337
A9336
3.5M Adaptor Coil 15 Pin x 2x 7 Pin Coils c-w Moul EC7A
3.5M Adaptor Coil 15 Pin x 2x 7 Pin Coils c-w Moul A9345
A9341
A9344 CF372178
A9300 CF371376
A9300S
A9338 CF371486
A9338S CF371655
A9343 CF371658
A9343 CF371658
A9320 CF371654
A9320S
A9339 CF371653
A9339S
A9342 CF371657
A9342 CF371657
A0185U
A2683U
A0180 CF370611
A0193 CF370612
7 Pin 'S' Type 24V Metal Socket (Spade Terminals) A0196
7 Pin 'N' Type 24V Metal Socket (Spade Terminals) A0198
A0192U
A2684U
A0190 CF370613
A0194 CF370614
A0300
A0310
A0303
A0304
A0295 CF100282
A4370 CF370497
A4360 CF370498
A4385 CF370401
A4375 CF370400

7 Pin 'S' Type 24V Metal Plug (H/Duty)

Page 26 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
Electrical Cable & Accessories
EC0280 7-CORE CABLE (30M) A0320 CF370106
EC0281 2-CORE CABLE (30M) A0321
EC0282 - 2 CORE FLAT CABLE BLACK/RED 17.5 AMP (30M) A0444
EC0283 v CABLE BLK/RED/GRN 8.75AMP (30M) A0445
EC0289 = 2-CORE CABLE (100M) KLTF0694
EC0800 B/BAND COMMERCIAL REVERSING ALARM 87DB KLTF0343
EC0801 B/BAND COMMERCIAL REVERSING ALARM 92DB KLTFO344
EC0802 , BACKALARM REVERSING ALARM C/W NIGHT SHIFT KLTF0352
EC0803 ¥ REV ALARM NIGHT SILENT 12/24V SBM A8891
EC0804 REV ALARM 12/24V SBM A8872
EC0805 REV ALARM TALKING 12/24V SBM A8880
EC0840 VALUE BACKEYE COLOUR 5 INS TFT SYSTEM KLTFO614
EC0850 JUMP LEADS 135A 20MM (5M) H5167
EC0851 JUMP LEADS 170A 25MM (5M) H5168
EC0852 - JUMP LEADS 240A 35MM (5M) H5169
EC0875 — BATTERY ISOLATOR SWITCH H5297
EC0876 TAIL LIFT SWITCH ( 2 Buttons) KLTFO405
EC0877 TAIL LIFT SWITCH ( 3 Buttons) KLTFO406
EC0878 HIGH CURRENT CONNECTOR 175 AMP KLTFO403
EC0879 HIGH CURRENT CONNECTOR 350 AMP KLTFO404
EC0899 SMART LOAD DEVICE LED INDICATORS KLTF0285
King Pins / Kits & Accessories
FA0001 KING PIN (Replaces JOST) A0880 Kz0912/01
FA0002 KING PIN (Drilled) A0887 Kz1012
FA0004 KING PIN (WELD IN) FOR 8MM RUBBING PLATE A0840 CF200994
FA0005 KING PIN COUNTER DRILLED A0822 Kz1907/01
FA0006 KING PIN COUNTER DRILLED A0850 CF200884
FA0007 KING PIN (WELD IN) FOR 10MM RUBBING PLATE A0869 CF200061
FA0050 BACK PLATE 10MM (A0887) A0827 KZ1010/02
FA0051 BACK PLATE 10MM (A0850) A0829 CF201040
FA0052 BACK PLATE 8MM (FA0006) A0855 CF201039
FA0080 NUT BOLT AND WASHER ASSY(FA0001) A0857 CF200580
FA0081 BOLT (FA0002/FA0005) A0894 KZE1012.03
FA0090 KING PIN LOCK HEAVY DUTY A0816
FA0099 KING PIN ADAPTOR 2"-31/2" A0858
FA0100 JAW REPAIR KIT YORK/BIG-D A1220
FA0109 & R/LSE HANDLE 2 PIECE KIT BIGD KLTA0302
FA0200 Natie? 7 NG JAW REPAIR KIT VBG/FONTAINE PL Al1221
FA0201 “‘~ @ JAW REPAIR KIT VBG/FONTAINE SPL / SPL2 Al1254
FA0202 k' ” JAW KIT TO FIT 150SP KLTA0452U
FA0210 JAW REPAIR KIT TO FIT 150SP-Genuine KLTA0452

Page 27 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
FA0215 TRUNNION FOOT REPAIRKIT DAYTON/BIG 'D' KLTA0445
FA0216 TRUNNION FOOT REPAIR KIT VBG A1243
FA0217 TRUNNION KIT UNIVERSAL BIG 'D & VBG KLTA0430
FA0218 EXTENDED 1 PIECE HANDLE 150SP KLTA0480
FA0300 JAW REPAIR KIT (JOST TYPE) KLTA0439 SK1500-02
FA0301 JAW REPAIR KIT (JOST TYPE) A1236 SK3221-52
FA0302 JAW REPAIR KIT (JOST TYPE) KLTA0497 SK3121-60Z
FA0305 R /// ./ JAW & WEAR RING KIT (JOST EQUIV) KLTA0482 SK3221-50
FA0309 Vi @ WEAR RING KIT REPL SK2121-51 A1237 SK2121-51
FA0310 i S JAW REPAIR KIT JOST SK2921-037 KLTA04390EM SK2921-037
FA0315 TRUNNION FOOT REPAIR KIT JSK36 Type KLTA0441 CF230867
FA0318 OPERATING HANDLE ASSY JOST KLTA0440
Lighting / Accessories / Bulbs & Accessories
LA0001 AMBER BEACON 3 BOLT FIXING 16300
LA0002 AMBER BEACON SINGLE BOLT FIXING 16315
LA0003 AMBER BEACON MAGNETIC BASE 16330
LA0019 XENON AMBER BEACON 12/24V (Single Bolt Fit) KLTFO308
LA0020 XENON AMBER BEACON 12/24V (3 Bolt Fit) 16100
LA0025 XENON AMBER BEACON 12/24V (3 Bolt Fit) KLTF0312
LA0026 XENON AMBER BEACON 12/24V (Single Bolt Fit) KLTFO313
LA0027 XENON AMBER BEACON 12/24V (Magnetic) KLTF0314
LA0100 AEROLITE 420 LIGHTBAR 2-MODULE AMBER 12V KLTF0293
LA0101 AEROLITE 420 LIGHTBAR 2-MODULE AMBER 24V KLTF0294
LA0102 XENON 420 LIGHTBAR 2-MODULE AMBER 12/24V KLTFO301
LA0103 AEROLITE 420 LIGHTBAR 2-MODULE AMBER 12V (Magnetic KLTF0296
LA0105 XENON 420 LIGHTBAR 2-MODULE AMBER 12/24V (Magnetic KLTFO303
LA0107 AEROLITE 520 LIGHTBAR 2-MODULE AMBER 24V 16210
LAO119 T 3 AEROLITE 1250 LIGHTBAR 2-MODULE AMBER 24V 16230
LAO0121 % AEROLITE 1250 LIGHTBAR 4-MODULE AMBER 24V KLTF0292
LA0455 ROOF LAMP C-W GUARD 15100
LA0490 NUMBER PLATE LAMP A0211
LA0491 NUMBER PLATE LAMP 14980
LA0496 NUMBER PLATE LAMP (LED) KLTFO651
LA0497 NUMBER PLATE LAMP (LED) KLTFO706
LA0S00 LED HANDLAMP (SMALL) HOOK KLTF1283
LBO0O05 Bulb (H1/466) 24v, 70w, Halogen H1100 466
LB0015 Bulb (H3/460) 24v, 70w, Halogen H1095 460
LB0O030 Bulb (H4/475) 24v, 70w, Halogen H1110 475
LB0040 Bulb (H7/775) 24v, 70w, Halogen H2038 775
LB0O0O50 Bulb (149) 24v, 5w, SP H1015 149
LB0O100 Bulb (241) 24v, 21w, SP H1045 241
LBO150 Bulb (150) 24v, 5w, DP H1020 150
LB0200 Bulb (249) 24v, 4w, SP H1052 249
LB0250 8 Bulb (507) 24v, 5w, Capless H1150 507
LFO001 i = ; d INDICATOR LAMP RH (Scania 4) KLTFOO050 1387155, 9EL145104011

Page 28 of 44




TRUCK & TRAILER PARTS LTD

Part No.

LFO002
LFO003
LFO008
LFO009
LFO010
LFOO011
LFO012
LFO013
LFO014
LFO110
LFO111
LFO112
LF0113
LFO115
LFO116
LFO117
LF0118
LF0201
LF0202
LF0203
LF0204
LF0208
LF0209
LF0210
LFO300
LFO301
LFO400
LFO401
LF0402
LFOS00
LF0901
LF0902
LFO903
LFOS04
LLO0O1
LLO002
LLO003
LLOO08
LLO00S
LLOO10
LLOO11
LLOO12
LLOO13
LLOO14
LLOO15

Product Description

INDICATOR LAMP LH (Scania 4)

WIRING LOOM To Fit LFO001 & LFO002
FOG & SPOT LAMP LH (BLUE) Scania 4
FOG & SPOT LAMP RH (BLUE) Scania 4
FOG & SPOT LAMP RH (CLEAR) Scania 4
FOG & SPOT LAMP LH (CLEAR) Scania 4
BULB HOLDER FOR LF0010/11

RH HEADLAMP UNIT C/W IND (SCANIA)
LH HEADLAMP UNIT C/W IND (SCANIA)
FOG & SPOT LAMP LH (CLEAR) DAF

FOG & SPOT LAMP RH (CLEAR) DAF

FOG & SPOT LAMP LH (BLUE) DAF

FOG & SPOT LAMP RH (BLUE) DAF

SPOT LAMP (CLEAR) LH SCANIA R SERIES
SPOT LAMP (CLEAR) RH SCANIA R SERIES
FOG LAMP (CLEAR) LH SCANIA R SERIES
FOG LAMP (CLEAR) RH SCANIA R SERIES
INDICATOR LAMP AMBER (Volvo FH)

INDICATOR LAMP RH (FH-FM Version 2)
INDICATOR LAMP LH (FH-FM Version 2)
INDICATOR HOUSING RH (Volvo Version 2)
INDICATOR HOUSING LH (Volvo Version 2)
FOG LAMP RH/LH (FH12)

INDICATOR LAMP (ACTROS 1996-2004)
INDICATOR LAMP (ACTROS 2004-)
INDICATOR LAMP MAN F2001/L2000
INDICATOR LAMP MAN F90/M90 F2000
INDICATOR LAMP MAN TGA ROUND

Iﬂaf. uc IX-Ref. OE & Other
KLTFO051 1385410, 9EL145103011
KLTFO695 1400209
KLTFO580 1422991B
KLTFO579 1422992B
KLTF0422 1422991
KLTF0423 1422992
KLTFO424 1400209
SCBODY677 1467000 / 1431256 /
SCBODY678 1467003 / 1431257 /
KLTFO744 1328860
KLTFO745 1328861
KLTFO746 1328860-BLUE
KLTFO747 1328861-BLUE
KLTF0729 1446353
KLTFO730 1446354
KLTFO733 1446356
KLTFO734 1446355
KLTFO038 8191146, 8191146-3

INDICATOR LAMP CLEAR/AMBER (Volvo FH-FM) KLTFO836 3981668
VLBODY426 20826213
VLBODY425 20826211
VLBODY428
VLBODY427
KLTFO835 3981666
L511
L513
L521
L523
L525

9" DRIVING LAMP C-W POSITION LIGHT (CLEAR) KLTF0456

9" DRIVING LAMP C-W POSITION LIGHT (BLUE) KLTFO455

9" DRIVING LAMP C-W POSITION LIGHT (GREEN) KLTF0457

9" DRIVING LAMP C-W LED POSITION LIGHT (CLEAR) KLTFO459

9" DRIVING LAMP C-W LED POSITION LIGHT (BLUE) KLTF0458

7 COMPARTMENT REAR LAMP RH/LH (Gland) L101

7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (Gland) L102

7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (Gland) L102L

7 COMPARTMENT R/LAMP with Triangle RH c-w No Plate KLTFO563

7 COMPARTMENT R/LAMP with Triangle LH c-w No Plat KLTFO562

7 COMPARTMENT REAR LAMP RH/LH (DAF Plug) KLTFO416 1304788 / 160810

7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (DAF Plu L71

7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (DAF Plu KLTFO417 1304789 / 168020

7 COMPARTMENT REAR LAMP RH/LH (DAF, MAN, RENAULT) KLTFO421

7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (DAF, MA L75

7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (DAF, MA 175L

Page 29 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
LLOO16 7 COMPARTMENT REAR LAMP RH/LH (IVECO Plug) 14953 99463243
LLO017 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (IVECO) 14952 99463242
LLO018 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (IVECO) 14954 99463244
LLOO019 7 COMPARTMENT REAR LAMP RH/LH (Schlemmer Plug) 14943
LL0020 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (Schlemm 14942
LLO021 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (Schlemm KLTF0127
LLOO25 7 COMP R/LAMP RH c-w No Plate Lamp MERC TYPE (Sch L12
LLO026 7 COMP R/LAMP LH c-w No Plate Lamp MERC TYPE (Sch L13
LLO027 7 COMPARTMENT REAR LAMP RH/LH MERC TYPE (Gland) L104
LLO028 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp MERC TY L105
LLO029 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp MERCTY L105L
LLO030 7 COMP LENS REPL 6311A 14217 6311A, 8142919
LLO032 7 COMPARTMENT LENS REPLACES 80857A MERC TYPE 10023 80857A
LLO035 5 COMPARTMENT LENS REPLACES (OLD FL) VOLVO TYPE 14465
LLOO39 REAR LAMP SHOCK ABSORBER/ANTI VIBRATION 12904
LLO040 SCANIA/VOLVO TYPE LENS REPL 80873A L40 80873A /3981782
LLOO41 REAR LAMP RH/LH End Plug ( VOLVO FH/FM Type) KLTFO413
LLO042 REAR LAMP LH c-w No Plate Lamp ( VOLVO FH/FM Type KLTF0430
LLO043 REAR LAMP RH c-w No Plate Lamp ( VOLVO FH/FM Type KLTFO412
LLO045 REAR LAMP LH ( SCANIA '4' Series Type) KLTHO0403
LLOO46 REAR LAMP RH ( SCANIA '4' Series Type) KLTFO425
LLO047 REAR LAMP LH c-w No Plate Lamp ( SCANIA '4' Series KLTF0426
LLO048 REAR LAMP RH c-w No Plate Lamp ( SCANIA '4' Series KLTHO0402
LLO050 REAR LAMP RH/LH (OLD 'R' Series) KLTF0412
LLOO51 REAR LAMP RH c-w No Plate Lamp (Old 'R’ Series Typ KLTF0921
LLO052 REAR LAMP LH c-w No Plate Lamp (Old 'R’ Series ) KLTF0430
LLOO54 REAR LAMP RH/LH (New 'R' Series) L52X
LLOO55 REAR LAMP RH c-w No Plate Lamp (New 'R’ Series) KLTF1300
LLOO56 REAR LAMP LH c-w No Plate Lamp (New 'R’ Series) KLTF1287
LLOO75 5 COMPARTMENT REAR RH LAMP (OLD MAN/MERC) 14370
LLOO76 5 COMPARTMENT R/LAMP LH c-w No Plate Lamp (OLD MAN 14380
LLOO77 5 COMPARTMENT REAR LENS RH/LH (OLD MAN/MERC) 14375 90-147-001
LLOO78 5 COMPARTMENT REAR RH/LH LAMP (OLD DAF) 14160
LLO079 5 COMPARTMENT LENS (OLD DAF)TO FIT LLO078 14220
LLO08O REAR LENS RH TO FIT LLO082/83 (ACTROS TYPE) 14607 9EL134296-011
LLO081 REAR LENS LH TO FIT LLO082/84 (ACTROS TYPE) 14606 9EL134296041
LLO082 REAR LAMP RH/LH (ACTROS TYPE) KLTF0366 15406570
LLO083 REAR LAMP RH c-w No Plate Lamp (ACTROS TYPE) KLTF0366 15406570
LLOO84 REAR LAMP LH c-w No Plate Lamp (ACTROS TYPE) KLTF0367 15406470
LLO090 REAR LENS (FOOT PRINT TYPE) KLTFO0100
LLO091 REAR LAMP RH/LH (FOOT PRINT TYPE) DIN SOCKET KLTF0283
LLO092 m R/LAMP RH (FOOT PRINT TYPE) c-w No Plate Lamp DIN L62
LLO093 R/LAMP LH (FOOT PRINT TYPE) c-w No Plate Lamp DIN KLTF0284
LLO094 REAR LAMP RH/LH (FOOT PRINT TYPE) GLAND FITTING KLTF0099
LLO095 R/LAMP RH (FOOT PRINT TYPE) c-w No Plate Lamp GLA L65

Page 30 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
LLO096 R/LAMP LH (FOOT PRINT TYPE) c-w No Plate Lamp GLA KLTFO098
LLO097 LENS C-W TRIANGLE RH ( TO FIT LLO0O08) KLTFO565
LLO098 LENS C-W TRIANGLE LH ( TO FIT LLO0Q9) KLTFO564
LLO100 Iveco Cargo Type LAMP LH CW REVERSE (Old 1 Large p 14170
LLO101 Iveco Cargo Type LAMP RLH CW FOG (Old 1 Large plug 14180
LL0102 Iveco Cargo Type LAMP LH CW REVERSE (2 Plugs) 14181
LLO103 Iveco Cargo Type LAMP RH CW FOG (2 Plugs) 14171
LLO104 Iveco Cargo Type LH Lamp c-w Reverse (Grommet) L41B
LLO105 Iveco Cargo Type RH Lamp c-w FOG (Grommet) L42B
LLO106 Iveco (New) Cargo Type L/H Lamp (New 1 Plug) L43
LLO107 Iveco (New) Cargo Type R/H Lamp (New 1 Plug) L44
LLO108 LENS TO SUIT LL0100,0102,0104,0106 (Reverse) 14182
LLO109 LENS TO SUIT LL0101,0103,0105,0107(Fog) 14172
LLO110 CONTINENTAL LAMP 140mm Dia 15050
LLO111 CONTINENTAL LAMP c-w NoPlate Lamp 140mm Dia 15000
LLO112 LENS TO SUIT LLO110 & LLO111 140mm Dia 15010
LLO113 FOG LAMP 140mm Dia 15920
LLO114 LENS TO FIT FOG LAMP LLO113 15921 90.032.001
LLO115 REVERSE LAMP 140mm Dia 15975
LLO116 LENS TO FIT REVERSE LAMP LLO115 15923 90.032.021
LLO119 LED 12V CONTINENTAL LAMP 140mm Dia L18
LLO120 LED 24V CONTINENTAL LAMP 140mm Dia KLTF0240
LLO121 LED 24V FOG LAMP 140mm Dia KLTF0238
LLO122 LED 24V REVERSE LAMP 140mm Dia KLTFO638
LLO123 LED 12V FOG LAMP 140mm Dia
LLO124 LED 12V REVERSE LAMP 140mm Dia
LLO126 Rear Lamp (Ribbed) Kogel / Schmitz RH/LH without N KLTFO559
LLO127 LENS (Ribbed) Kogel / Schmitz Type KLTFO560
LLO128 REAR LAMP 186mm x 66mm RH/LH KLTF0188
LLO129 LENS REAR TO FIT LLO128 KLTFO505
LLO130 LED WARNING LAMP (RED) DV KLTF1420
LLO131 LED WARNING LAMP (CLEAR) DV KLTF1421
LLO132 LED WARNING LAMP (AMBER) DV KLTF1419
LLO140 REAR LAMP RH (New Volvo Type ) Rigid KLTFO505
LLO141 REAR LAMP LH c-w No Plate Lamp (New Volvo Type ) R KLTFO503
LLO142 REAR LAMP LH (New Volvo Type ) Rigid KLTF0504
LLO144 LENS TO FIT (Volvo Rigid Type) LLO140-143 Replaces KLTFO506
LLO145 REAR LAMP LH c-w No Plate (New Volvo Type ) Tracto KLTFO483
LLO146 REAR LAMP LH (New Volvo Type )Tractor Unit KLTF0482
LLO147 REAR LAMP RH (New Volvo Type ) Tractor Unit KLTFO484
LLO149 LENS TO FIT (Volvo Tractor Type)LL0O145-8 Replaces L249
LLO150 REAR LAMP LH C/W NO PLATE RENAULT KLTF0918
LLO151 REAR LAMP RH RENAULT KLTF0919
LLO152 REAR LAMP RH C/W ALARM L212
LLO153 LENS TO SUIT LLO150/151/152 KLTFO909

Page 31 of 44




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

noe
LLO161

LLO162

LLO163

LLO164

LLO165

LLO167

LLO168

LLO169

LLO170

LLO171

LLO172

LLO173 .

LLO174
LLO175
LLO176
LLO179
LMO0001
LMO0002
LMO0003
LMO0004
LMO0005
LMO0006
LMO0007
LMO0008
LMO0009
LM0010
LMO0011
LMO0012
LMO0013
LM0014
LMO0016
LMO0017
LMO0018
LM0020
LM0021
LM0022
LM0023
LM0024
LM0025
LMO0050
LMO0051
LM0052
LMO0053
LMO0054

EUROPOINT TYPE LENS LH
EUROPOINT TYPE LENS RH

LAMP LH (Old Merc 3 Chamber)

LENS RH/LH (Old Merc 3 Chamber)
REAR COMB LAMP LH (MAN) Blue Lens
REAR COMB LAMP RH (MAN) Blue Lens

IVECO DAILY REAR LAMP LH (W/w)
IVECO DAILY REAR LAMP RH (W/W)
IVECO DAILY REAR LENS RH/LH (W/W)
IVECO DAILY REAR LENS RH/LH  (Y/W)

CLEAR LENS (TO FIT LM0001) 55mm Dia
RED LENS (TO FIT LM0001) 55mm Dia

CLEAR LENS (TO FIT LM0004) 60mm Dia
RED LENS (TO FIT LM0004) 60mm Dia

LED R/W 92mm MARKER LAMP (LM0004)

MARKER LAMP LED STRAIGHT ARM
MARKER LAMP LED 45 DEGREE ARM
MARKER LAMP LED 90 DEGREE ARM

Iﬂaf. uc IX-Ref. OE & Other
EUROPOINT TYPE LAMP RH C-W Socket Fitting KLTFO0194 255400507
EUROPOINT TYPE LAMP LH C-W Socket Fitting KLTFO195 255000507
EUROPOINT TYPE LAMP RH C-W GLAND FITTING KLTFO0194 255400507
EUROPOINT TYPE LAMP LH C-W GLAND FITTING KLTFO195 255000507
KLTFO196 188550002
KLTFO196 188550002
LAMP RH c-w No Plate Lamp (Old Merc 3 Chamber) 14140
14150
14145
KLTFO905
KLTF0906
REAR LENS LH TO FIT LLO170 (MAN) Blue Lens KLTFO907
REAR LENS RH TO FIT LLO171 (MAN) Blue Lens KLTF0908
KLTF1380
KLTF1381
KLTF1382/1383
R/W 60' DEG 190mm STORK MARKER LAMP (55mm Dia Lens 14025
14026
14027
R/W 92mm MARKER LAMP (60mm Dia Lens) 14270
14275
14276
R/W 95mm STORK MARKER LAMP (55mm Dia Lens) 14280
R/W 60' DEG STORK MARKER LAMP (60mm Dia Lens) 14530
R/W 90' DEG STORK MARKER LAMP (60mm Dia Lens) 14535
R/W 90' DEG 185mm STORK MARKER LAMP (55mm Dia Lens 14540
LED R/W 60' DEG 190mm STORK MARKER LAMP (LM0009) 14025 LED
LED R/W 90' DEG 185mm STORK MARKER LAMP (LM0010) 14540 LED
14270 LED
LED R/W 95mm STORK MARKER LAMP (LM0007) 14280 LED
KLTFO665
KLTFO666
KLTFO667
R/W 90' DEG 113mm STORK MARKER LAMP (55mm Dia Lens
LED R/W 90' DEG 113mm STORK MARKER LAMP (LM0020)
R/W 90' DEG 150mm STORK MARKER LAMP (55mm Dia Lens
LED R/W 90' DEG 150mm STORK MARKER LAMP (LM0022)
R/W 60' DEG 150mm STORK MARKER LAMP (55mm Dia Lens
LED R/W 60' DEG 150mm STORK MARKER LAMP (LM0024)
LED REAR (Red) MARKER LAMP (Lamp 116x38mm) KLTFO641
LED SIDE (Amber) MARKER LAMP (Lamp 116x38mm) KLTFO639
LED SIDE (Amber) M/LAMP c-w BRKT (Lamp 116x38mm) KLTFO642
LED FRONT (Clear) MARKER LAMP (Lamp 116x38mm) KLTF0640
BLUE LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTFO707

Page 32 of 44




IX-Ref. OE & Other

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc
LMO0055 CLEAR LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTFO709
LMO0056 GREEN LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTFO711
LMO0057 AMBER LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTFO713
LMO0058 RED LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTFO716
LM0060 LED REAR (Red) MARKER LAMP (Lamp 81x45mm) KLTF0004
LMO0061 LED SIDE (Amber) MARKER LAMP (Lamp 81x45mm) KLTFO005
LM0062 LED FRONT (Clear) MARKER LAMP (Lamp 81x45mm) KLTFO006
LMO0063 LED FRONT (Clear) MARKER LAMP (46mm Dia) KLTF0243
LM0064 LED FRONT (Clear) S/ADHESIVE MARKER LAMP (46mm Dia KLTF0244
LMO0065 SIDE MARKER (Amber) LAMP ( Bulb Type) LM0070 KLTF0256
LM0066 LED REAR (Red) MARKER LAMP (Lamp 120x63mm) KLTF0254
LMO0067 LED SIDE (Amber) MARKER LAMP (Lamp 120x63mm) KLTF0258
LM0068 LED FRONT (Clear) MARKER LAMP (Lamp 120x63mm) KLTF0250
LMO0069 LED REAR (Red) MARKER LAMP (Lamp 100x50mm) KLTF0255
LM0070 LED SIDE (Amber) MARKER LAMP (Lamp 100x50mm) KLTF0259
LM0071 LED FRONT (Clear) MARKER LAMP (Lamp 100x50mm) KLTF0251
LM0072 LED REAR (Red) MARKER LAMP (Lamp 108x58mm) KLTF0253
LMO0073 LED SIDE (Amber) MARKER LAMP (Lamp 108x58mm) KLTF0257
LM0074 LED FRONT (Clear) MARKER LAMP (Lamp 108x58mm) KLTF0249
LMO0077 HELLA 2TM963639-307 LED (RED LED 12V) KLTF0382
LM0078 HELLA 2TM963639-317 LED (RED LED 24V) KLTFO383
LMO0079 HELLA 2PS963639-001 LED (AMBER LED 12V) KLTF0384
LM0080 HELLA 2PS963639-011 LED (AMBER LED 24V) KLTFO385
LM0081 HELLA 2PS963639-061 LED (AMBER LED 12V) c-w bracke KLTF0386
LM0082 HELLA 2PS963639-071 LED (AMBER LED 24V) c-w bracke KLTFO387
LMO0083 HELLA 2PS007943-011 LED (AMBER LED 24V) w-o bracke KLTF0394
LM0084 HELLA 2PS007943-021 LED (AMBER LED 24V) c-w bracke KLTFO396
LM0088 LED ABS (Green) MARKER LAMP (Lamp 111x51mm) KLTF0463
LM0100 LED SIDE (Amber) MARKER LAMP (Lamp 111x51mm) KLTFO385
LM0101 LED SIDE (Amber) M/LAMP c-w BRKT (Lamp 111x51mm) KLTF0387
LM0102 LED REAR (Red) M/LAMP c-w BRKT (Lamp 111x51mm) KLTFO383
LM0103 LED FRONT (Clear) M/LAMP c-w BRKT (Lamp 111x51mm) KLTF0467
LMO0110 LED FRONT (Clear) MARKER LAMP (Lamp 60x38x32mm) KLTFO708
LM0111 LED REAR (Red) MARKER LAMP (Lamp 60x38x32mm) KLTFO715
LM0112 LED SIDE (Amber) MARKER LAMP (Lens 100x32mm) KLTFO712
LM0113 LED REAR (Red) MARKER LAMP (Lens 100x32mm) KLTFO714
LMO0114 LED FRONT (Clear) MARKER LAMP (Lens 100x32mm) KLTFO710
LMO0115 BLUE LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTF1296
LMO0116 CLEAR LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTF1295
LM0117 GREEN LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTF1294
LM0118 AMBER LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTF1297
LM0119 RED LED MARKER C/W 0.5M LEAD (Lens 75x22mm) KLTF1293
LMO0130 (Amber) MARKER LAMP (Lamp 110x50mm) KLTFO407
LMO0135 Bulb Holder to fit LM0130 Marker Lamp KLTF1290
LM0180 MARKER LAMP (Amber) LED - Scania 4 / Volvo FH/FM KLTFO570

Page 33 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
LMO0181 SIDE MARKER LAMP LED MAN L529
LM0200 LED FLATPOINT TYPE FRONT (Clear) MARKER 1M KLTF0204 316614027
LM0202 LED FLATPOINT TYPE SIDE (Amber) MARKER 1M KLTF0206 312204017
LM0204 LED FLATPOINT TYPE SIDE (Amber) MARKER c-w BRKT 1. KLTF0208 312214037
LM0206 LED UNIPOINT TYPE SIDE (AMBER) MARKER KLTFO437 31-2004-037
LM0208 LED UNIPOINT TYPE SIDE ( Amber) MARKER c-w BRKT 1 KLTF0438 312064037
LM0210 LED UNIPOINT TYPE FRONT (Clear) MARKER LAMP KLTFO689
LM0212 LED UNIPOINT TYPE REAR (Red) MARKER LAMP KLTFO690
LM0215 REGPOINT TYPE NO PLATE LAMP 1.5M KLTF0216 363004037
LP100/04 REPLACEMENT N/PLT LAMP EQUIV TO 100/04/0 11480U 100/04
LP108/01 REPLACEMENT J.BOX EQUIV TO 108/01/00 11490U 108/01
LP1100 Q\, REPLACEMENT BULBHOLDER EQUIV TO 1100 11570U 1100
LP1102 REPL BULBHOLDER EQUIV TO 1102 11580U 1102
LP111/01 REPLACEMENT J. BOX EQUIV TO 111/01/01 11500U 111/01
LP1231 CLEAR - REPLACEMENT LENS 50/0 LAMPS 11670U 1231
LP1268 RED - REPLACEMENT LENS 50/0 LAMPS 11680U 1268
LP1349 REPLACEMENT BULBHOLDER EQUIV TO 1349 11720U 1349
LP1553 REPL BULBHOLDER EQUIV TO 1553 11805U 1553
LP1650 RED - REPLACEMENT LENS EQUIV TO 1650 11820U 1650
LP1684 REPLACEMENT BULBHOLDER EQUIV TO 1684 11840U 1684
LP1744 RED - CLEAR -REPLACEMENT LENS EQUIV TO 1744 11880U 1744
LP1756 AMBER - REPLACEMENT LENS EQUIV TO 1756 11910U 1756
LP1759 AMBER - REPLACEMENT LENS EQUIV TO 1759 11920U 1759
LP1795 AMBER - REPLACEMENT LENS 50/0 LAMPS 11940U 1795
LP22/01 RED-CLEAR - REPLACEMENT LENS 22/01 LAMPS 11020U 40200
LP22/03 AMBER - REPLACEMENT LAMP 22/03 11022U 40259
LP2540 GREEN - REPLACEMENT LENS 50/0 LAMPS 11040U 2540
LP28/01 RED-CLEAR - REPLACEMENT LENS 28/01 LAMPS 11030U 40206
LP28/03 AMBER - REPLACEMENT LENS 28/03 LAMPS 11033U 40265
LP3184 RED-AMBER - REPLACEMENT LENS EQUIV TO 3184A 12220U 3184
LP332/01 AMBER - REPLACEMENT LAMP EQUIV TO 332/01/00 11001U 332/01
LP333/01 AMBER - REPLACEMENT LAMP EQUIV TO 333/01/00 11002U 333/01
LP3707 CLEAR - REPLACEMENT LENS EQUIV TO 3707 12470U 3707
LP3809 RED - LENS EQUIV TO 3809 'E' Marked 12500U 3809
LP3852 RED - REPLACEMENT LENS EQUIV TO 3852 12550U 3852
LP3923 RED LENS EQUIV TO 3923 'E' Marked 12620U 3923
LP3924 RED/AMBER LENS EQUIV TO 3924 'E' Marked 12630U 3924
LP4936 REPLACEMENT LENS EQUIV TO 4936 12700U 4936
LP50/01 CLEAR - REPLACEMENT LAMP EQUIV TO 50/01/00 11090U 50/01/00
LP50/01/01 CLEAR - REPLACEMENT LAMP EQUIV TO 50/01/01 11542U 50/01/01
LP50/02 RED - REPLACEMENT LAMP EQUIV TO 50/02/00 11091U 50/02
LP50/03 AMBER - REPLACEMENT LAMP EQUIV TO 50/03/00 11092U 50/03
LP50/09 GREEN - REPLACEMENT LAMP EQUIV TO 50/09/00 11094U 50/09
LP550/01 CLEAR-REPL LAMP EQ TO 550/01/00 10010U 550/01
LP550/02 RED-REPL LAMP EQ TO 550/02/00 10015U 550/02

Page 34 of 44




Page 35 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
LP550/03 AMBER-REPL LAMP EQ TO 550/03/00 10020U 550/03
LP6989 REPLACEMENT BRACKET 6989 12995U 6989
LP6991 AMBER - REPLACEMENT LENS EQUIV TO 6991 12950U 6991
LP7534 RED - REPLACEMENT LENS EQUIV TO 7534 12910U 7534
LP7535 CLEAR - REPLACEMENT LENS EQUIV TO 7535 12915U 7535
LP7537 REPLACEMENT BULBHOLDER EQUIV TO 7537 12920U 7537
LP7546 AMBER - REPLACEMENT LENS EQUIV TO 7546 12925U 7546
LP7690 GREEN - REPLACEMENT LENS EQUIV TO 7690 12935U 7690
LP890/01/04 FRONT (Clear) M/LAMP S/S CONNECTOR (Lamp 125x40mm) KLTFO548U 890/01/04
LP890/02/04 REAR (Red) M/ LAMP S/S CONNECTOR (Lamp 125x40mm) KLTFO536U 890/02/04
LP890/03/04 SIDE (Amber) M/LAMP S/S CONNECTOR (Lamp 125x40mm) KLTFO532U 890/03/04
LP891/01/04 FRONT (Clear) MARKER LAMP (Lamp 125x40mm) KLTFO399U 891/01/04
LP891/02/04 REAR (Red) MARKER LAMP (Lamp 125x40mm) KLTFO400U 891/02/04
LP891/03/04 SIDE (Amber) MARKER LAMP (Lamp 125x40mm) KLTFO401U 891/03/04
Genuine TRUCKLITE / RUBBOLITE products
LR100/03/01 No PLATE LAMP SP (3707 Lens) KLTFO108 100/03/01
LR108/01/00 JUNCTION BOX 11490 108/01/00
LR133/01/00 No PLATE LAMP SP TO FIT 645/ HOLDER KLTFO110 133/01/00
LR134/04/13 No PLATE LAMP TO FIT 645/ HOLDER KLTFO551 134/04/13
LR1371 LENS RED/AMBER TO FIT 61/60 LAMP 11750 1371
LR1510 LENS RED/AMBER TO FIT 64/01/11 LAMP 11790 1510
LR1553 BULBHOLDER 1553 SP TO FIT 50/ LAMPS 11805 1553
LR262/01/00 REAR LAMP TO FIT FORD TRANSITS RH/LH (Grommet) 11564 262/01/00
LR262PS/01/00 REAR LAMP TO FIT FORD TRANSITS RH/LH (Socket) 10095 262PS/01/00
LR311/01/00 FOG LAMP ( Lamp 111x111mm) 3809 Lens 10145 311/01/00
LR332/01/00 SIDE MARKER (Amber) LAMP 11001 332/01/00
LR333/01/00 SIDE MARKER (Amber) LAMP c-w Verticle Brkt 11002 333/01/00
LR335/01/00 SIDE MARKER (Amber) LAMP c-w Horizontal Brkt 11004 335/01/00
LR360/07/00 7 COMPARTMENT REAR LAMP RH/LH (Gland) 10062 360/07/00, 1070086
LR360/08/00 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (Gland) 10063 360/08/00
LR360/08/01 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (Gland) 10064 360/08/01, 1070085
LR360DIN/08/00 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (DAF, MA KLTFO487 360DIN/08/00, 1625986
LR360DIN/08/01 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (DAF, MA KLTFO486 360DIN/08/01, 1625985
LR360MCE/08/00 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp MERC TY KLTFO125 360MCE/08/00, 2D0 945 96 A, 2D0 945 96 D
LR360MCE/08/01 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp MERCTY KLTFO126 360MCE/08/01, 2D0 945 95 A, 2D0 945 95 D
LR360SPS/07/00 7 COMPARTMENT REAR LAMP RH/LH (Schlemmer Plug) 10002 360SPS/07/00, 5430053872
LR360SPS/08/00 7 COMPARTMENT R/LAMP RH c-w No Plate Lamp (Schlemm 10003 360SPS/08/00, 5430053871
LR360SPS/08/01 7 COMPARTMENT R/LAMP LH c-w No Plate Lamp (Schlemm KLTFO127 360SPS/08/01
LR38/01/01 REAR LAMP AMBER & RED c-w No Plate Illumination 11062 38/01/01
LR461DIN/07/16 Scania Type RH/LH Lamp (End Plug) Old 'R' Series KLTF0921 461DIN/07/16, 1498103
LR461DIN/07/44 Scania Type RH Lamp (End Plug) New 'R' Series KLTF1300 461DIN/07/44
LR461DIN/07/746 w Scania Type RH Lamp NEW 'R’ Series (Alarm type) KLTF1288 461DIN/07/746
LR461DIN/08/00 REAR LAMP RH c-w No Plate Lamp ( VOLVO FH/FM Type KLTF1101 461DIN/08/00, 3981458




TRUCK & TRAILER PARTS LTD

Part No.

Product Description

LR461DIN/08/01
LR461DIN/08/17
LR461DIN/08/47
LR461SCE/07/20
LR461SCE/07/21
LR461SCE/08/30
LR461SCE/08/31
LR462DIN/07/10
LR462DIN/07/11
LR462DIN/07/710
LR462DIN/08/11
LR463DIN/07/10
LR463DIN/07/11
LR463DIN/07/710
LR463DIN/08/11
LR4936
LR50/01/00
LR50/01/01
LR50/02/01
LR50/03/01
LR550/01/00
LR550/02/00
LR550/03/00
LR556/01/04
LR590/03/04
LR594/01/12
LR596/23/04
LR61/60
LR610/03/00
LR615/03/00
LR620/01/04
LR6311A
LR64/01/11
LR645/01/00
LR645/134/13
LR700/04/24
LR800/01/00
LR800/01/01
LR80211
LR80873
LR810/01/00
LR833/01/04
LR840/01/04
LR840/01/05
LR841/01/04

REAR LAMP RH ( SCANIA '4' Series Type)
REAR LAMP LH ( SCANIA '4' Series Type)

REAR LAMP RH (New Volvo Type ) Rigid
REAR LAMP LH (New Volvo Type ) Rigid

FRONT MARKER LAMP (CLEAR) DP
FRONT MARKER LAMP (CLEAR) SP
REAR MARKER LAMP (RED) SP
SIDE MARKER LAMP (AMBER) SP
FRONT MARKER LAMP (CLEAR)
REAR MARKER LAMP (RED)

SIDE MARKER LAMP (AMBER)

MARKER LAMP (AMBER) 110x50x18mm

7 COMPARTMENT LENS 360/

PLASTIC No PLATE HOLDER

PLASTIC No PLATE HOLDER C-W LAMP
ALARM (SCANIA/VOLVO)

REAR LAMP RH

REAR LAMP LH

LED LENS TO FIT 620/01/04

LED CONTINETAL LAMP 12/24V 140mm Dia
LED No PLATE LAMP TO FIT 645/

Iﬂaf. uc IX-Ref. OE & Other
REAR LAMP LH c-w No Plate Lamp ( VOLVO FH/FM Type KLTF0280 461DIN/08/01, 3981460
Scania Type LH Lamp (End Plug) Old 'R’ Series KLTF0922 461DIN/08/17, 1498102
Scania Type LH Lamp (End Plug) New 'R' Series KLTF1287 461DIN/08/47
KLTFO425 461SCE/07/20, 1436849
KLTHO0403 461SCE/07/21, 1436848
REAR LAMP RH c-w No Plate Lamp ( SCANIA '4' Series 10026 461SCE/08/30, 1371975, 1371977,1371979,1371981
REAR LAMP LH c-w No Plate Lamp ( SCANIA '4' Series 10027 461SCE/08/31, 1371974, 1371976,1371978,1371980
KLTFO505 462DIN/07/10, 20425729, 20507624
KLTFO504 462DIN/07/11, 20425727, 20507622
REAR LAMP RH c-w Alarm (New Volvo) Rigid KLTF1105 462DIN/07/710
REAR LAMP LH c-w No Plate Lamp (New Volvo Type ) R KLTFO503 462DIN/08/11, 20425728, 20507623
REAR LAMP RH (New Volvo Type ) Tractor Unit KLTFO484 463DIN/07/10
REAR LAMP LH (New Volvo Type ) Tractor Unit KLTF0482 463DIN/07/11
REAR LAMP RH c-w Alarm (New Volvo) Tractor Unit KLTF1106 463DIN/07/710
REAR LAMP LH c-w No Plate Lamp (New Volvo Type )Tr KLTFO483 463DIN/08/11
FORD TRANSIT LENS RH/LH TO FIT 262/ LAMPS 12700 4936
11542 50/01/00
11542 50/01/01
KLTF0103 50/02/02
11081 50/03/01
10010 550/01/00
10015 550/02/00
10020 550/03/00
LED FRONT (Clear) M/LAMP Replaces 50/0 & 555/0 Lam 11142 556/01/04
LED SIDE MARKER (AMBER) LAMP (MAN/SQUARE) KLTF0525 590/03/04
LED SIDE (Amber) M/LAMP (Lamp 120x45mm) KLTF0145 594/01/12
LED SIDE (Amber) M/LAMP c-w BRKT (Lamp 125x40mm) KLTFO154 596/23/04
REAR LAMP RED/AMBER DP (Lamp 240x105mm) 11140 61/60
KLTF0526 610/03/00
LED SIDE MARKER LAMP VOLVO FH/FM/ SCANIA 4 & R KLTF0529 615/03/00
LED SIDE MARKER LAMP (AMBER) Replaces 332/0 333/0 10011 620/01/04
12905 6311A, 8142919
REAR LAMP RED/AMBER SP (Lamp 202x104mm) KLTF0107 64/01/11
10047 645/01/00
KLTF0356 645/134/13
KLTF1149 700/04/24
KLTF0359 800/01/00
KLTF0360 800/01/01
10016 80211
LENS TO FIT SCANIA 4, R SERIES & VOLVO FH/FM 10037 80873 / 1380819
KLTF0240 810/01/00
KLTF0552 833/01/04
LED STORK TYPE MARKER LAMP RED/CLEAR RH KLTFO540 840/01/04
LED STORK TYPE MARKER LAMP RED/CLEAR LH KLTF0541 840/01/05
LED STORK TYPE MARKER LAMP RED/CLEAR RH KLTF0542 841/01/04

Page 36 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
LR841/01/05 LED STORK TYPE MARKER LAMP RED/CLEAR LH KLTFO543 841/01/05
LR850/01/04 FRONT (Clear) M/LAMP S/S CONNECTOR KLTFO544 850/01/04
LR850/02/04 REAR (Red) M/LAMP S/S CONNECTOR KLTFO533 850/02/04
LR851/01/04 FRONT (Clear) M/LAMP c-w 0.5M CABLE KLTFO545 851/01/04
LR851/01/05 FRONT (Clear) M/LAMP c-w 5M CABLE KLTFO546 851/01/05
LR851/02/04 REAR (Red) MARKER LAMP c-w 0.5M CABLE KLTFO534 851/02/04
LR851/02/05 REAR (Red) MARKER LAMP c-w 5M CABLE KLTFO535 851/02/05
LR85479 LENS TO FIT VOLVO RIGIDS VERSION 2 KLTFO506 85479 /20425732
LR856/01/04 FRONT (Clear) M/LAMP S/S CONNECTOR KLTF0549 856/01/04
LR856/01/05 FRONT (Clear) M/LAMP c-w 0.15M CABLE KLTFO550 856/01/05
LR856/02/04 REAR (Red) Marker LAMP S/S CONNECTOR KLTFO538 856/02/04
LR856/02/05 REAR (Red) Marker LAMP c-w 0.15M CABLE KLTFO539 856/02/05
LR88224 LENS TO FIT VOLVO TRACTOR UNITS VERSION 2 KLTFO485 88224
LR890/01/04 FRONT (Clear) M/LAMP S/S CONNECTOR (Lamp 125x40mm) KLTF0548 890/01/04
LR890/02/04 REAR (Red) M/LAMP S/S CONNECTOR (Lamp 125x40mm) KLTFO536 890/02/04
LR890/03/04 SIDE (Amber) M/LAMP S/S CONNECTOR (Lamp 125x40mm) KLTF0532 890/03/04
LR891/01/04 FRONT (Clear) MARKER LAMP (Lamp 125x40mm) KLTFO399 891/01/04
LR891/02/04 REAR (Red) MARKER LAMP (Lamp 125x40mm) KLTFO400 891/02/04
LR891/03/04 SIDE (Amber) MARKER LAMP (Lamp 125x40mm) KLTFO401 891/03/04
LRTHQ/01/00 FRONT (Clear) MARKER LAMP (Lamp 104x36mm) KLTFO547 THQ/01/00
LRTHQ/03/00 SIDE (Amber) M/LAMP c-w BRKT (Lamp 104x36mm) KLTFO531 THQ/03/00
Body Components & Accessories
MAO0001 WHEEL CHOCK PYRAMID RUBBER SINGLE KLTAO0500
MAO0002 WHEEL CHOCK RUBBER PAIR EO500
MAO0020 3" DOG CLIP AND CHAIN A2610 220846
MA0021 4" DOG CLIP AND CHAIN A2611 SK1436
MAO0050 HANDBRAKE R/H LARGE WHEEL A0375
MAO0051 HANDBRAKE R/H SMALL WHEEL A0381U
MAOQO055 HANDBRAKE CABLE 6MM 30MTR A1280 CF100543
MAO0056 HANDBRAKE CABLE 8MM 30MTR A1280
MAOQ059 WIRE ROPE GRIP 6MM A2590 CF700000
MAO0060 HANDBRAKE COMPENSATOR 375MM A2585
MAOQ061 HANDBRAKE COMPENSATOR 600MM A2587
MA0100 ROLLER BUFFER 100x26x80mm A8786 CF229107
MAO0104 ROLLER BUFFER ASSEMBLY TWIN HORIZONTAL A8785 CF229503
MA0106 ROLLER BUFFER ASSEMBLY SINGLE HORIZONTAL KLTB0OO76
MAO0108 ROLLER BUFFER ASSEMBLY QUAD HORIZONTAL KLTBOO77
MA0110 ROLLER BUFFER ASSEMBLY TWIN VERTICAL KLTB0OO78
MAO0112 ROLLER BUFFER ASSEMBLY TRIPLE VERTICAL KLTB0079
MA0185 BUFFER 2440x83x83mm D-TYPE A0975
MAO0190 BUFFER 245x80x95mm (120mm Hole centres) A0961 CF228964
MAO0191 BUFFER 203x83x83mm D-TYPE (120mm Hole Centres) A0970 CF220847
MA0192 BUFFER 203x51x51mm D-TYPE (110mm Hole Centres) A0960 CF220626
MAO0250 8MM SHOCK CORD (100MTR) A8620

Page 37 of 44




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
MBO0001 T1 MARKER BOARD (1) A0900 CF370107
MB0002 T2/3 MARKER BOARD (2) A0910 CF370108
MBO0003 T6 MARKER BOARD (2) A0920 CF370771
MBO0004 T4 MARKER BOARD (1) A0930 CF370109
MBO0005 T5 MARKER BOARD (2) A0940 CF370110
MBO0010 T1 ECE70 MARKER 1130 X140 (1) A1040 CF371470
MBO0011 T2/3 ECE70 MARKER 565 X 130 (2) A1041 CF371471
MBO0012 T4 ECE70 MARKER 283X140 (4) A1042 CF371472
MBO0013 T5 ECE70 MARKER 1130 X 200 (1) A1043 CF371422
MBO0014 T6/7 ECE70 MARKER 565 X 200 (2) A1044 CF371421
MBO0015 T8 ECE70 MARKER 283X200 (4) A1045 CF371467
MBO0050 LOAD PROJECTION MARKER N/SIDE A1032
MBO0051 LOAD PROJECTION MARKER O/SIDE A1033
MB0052 LOAD PROJECTION MARKER FRONT/REAR A1034
MBO0053 LOAD PROJECTION MARKER N/SIDE (VINYL) A1035
MBO0054 J LOAD PROJECTION MARKER O/SIDE (VINYL) A1036
MBO0055 LOAD PROJECTION MARKER FRONT/REAR (VINYL) A1037
MBO0090 CONSPICUITY TAPE AMBER 11.5M A0947
MBO0091 CONSPICUITY TAPE RED 11.5M A0947R
MB0092 CONSPICUITY TAPE WHITE 11.5M A0947W
MB0102 T2/3 SELF ADHESIVE MARKER A0915
MB0200 HAZCHEM PLATE (HORIZONTAL FOLD) A0209
MB0201 HAZCHEM PLATE ALUMINIUM (HORIZONTAL FOLDING) KLTB0040 CF440444
MB0202 HAZCHEM PLATE (VERTICAL FOLD) A0208
MB0203 HAZCHEM PLATE ALUMINIUM (VERTICAL FOLDING) KLTB0041 CF440443
MB0205 NUMBER PLATE HOLDER (TOP LOADER) A0210 CF440020
MB0206 NUMBER PLATE HOLDER (SIDE LOADER) A1205 CF440194
MB0208 HAZCHEM PLATE HOLDER A0212
MB0209 HAZCHEM PLATE A0213
MB0210 SPRUNGLOAD NUMBER PLATE HOLDER (SINGLE) KLTB0048
MB0220 NUMBER PLATE A0200
MBO0300 VTG6A H/Duty MOT HOLDER A0696 CF440540
MB0301 VTG6A MOT & DISC HOLDER A0697 CF440352
MB0302 VTG6A MOT HOLDER A0705 CF440021
MBO0310 SINGLE LICENCE HOLDER A0700 CF440022
MBO0311 DOUBLE LICENCE HOLDER A1100 CF440202
MBO0312 TRIPLE LICENCE HOLDER A1105
MBO0350 HEIGHT INDICATOR PLASTIC (IMP) A0946
MBO0351 HEIGHT INDICATOR PLASTIC COATED (IMP) A0948
MB0352 HEIGHT INDICATOR VINYL (IMP) A0949
MBO0353 HEIGHT INDICATOR METAL (IMP) MP5022
MB0400 RED TRIANGULAR REFLECTOR A0780 CF370117
MBO0405 RED TRIANGLE REFL C/W WHITE SURROUND A0710
MB0410 REFLECTOR AMBER S/ADH 102x51mm A0791
MBO0411 REFLECTOR RED S/ADH 102x51mm A0792

Page 38 of 44




Page 39 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
MBO0412 REFLECTOR CLEAR S/ADH 102x51mm A0793
MBO0420 AMBER OBLONG REFLECTOR A2350 CF371509
MB0421 RED OBLONG REFLECTOR A2352 CF371510
MB0422 CLEAR OBLONG REFLECTOR A2353 CF371511
MB0425 CLEAR REFLECTOR 60MM DIAM BOLT ON KLTBOO63
MBO0426 RED REFLECTOR 60MM DIAM BOLT ON KLTB0062
MB0427 AMBER REFLECTOR 60MM DIAM BOLT ON KLTB0OO61
MBO0499 ADVANCE WARNING TRIANGLE A0781
MDO0001 H/D RATCHET ASSY.8M WEB+CLAW 2-4T A8000
MD0002 H/D RATCHET ASSY 10M WEB&CLAW 2-4T A8010
MDO0003 <_=?i_ﬂ,: INT CURTAIN SIDE STRAP 4.5MTR KLTB0099
MD0020 I EXTL CURTAIN STRAP CLSD RAV-H A8080
MD0021 48MM BOTTOM STRAP CLOSED RAVE HOOK A8090
MDO0040 INTERNAL LOAD STRAP 4.5M (closed Rave) A8170 CF225597
MDO0041 INTERNAL LOAD STRAP 4.5M (Hooks) A8180
Truck Mirror Head & Glasses
MG6042 MIRROR GLASS HEATED 379x176mm 24V uT6042 81-63733-0082 / 81-63733-0083
MG6184 MIRROR GLASS 374x190mm uT6184 699856 / 1279531
MG6701 MIRROR GLASS HEATED 435x206mm 24V UT6701 1442705
MG6721 MIRROR GLASS HEATED 200x200mm 24V uT6721
MG6740 MIRROR GLASS HEATED 380x170mm 24V UT6740
MG6760 MIRROR GLASS HEATED 425x200mm 24V uUT6760 20455986
MG6901 MIRROR GLASS HEATED 188x167mm 24V UT6901 1732778
MG6960 MIRROR GLASS HEATED 180x170mm 24V UT6960 20455995
MG6961 MIRROR GLASS HEATED 195x185mm 24V UT6961 21070768
MH7064 MIRROR C/W 3 HOLE BRKT (DAF) UT7064 1614021
MH7071 TWIN MIRROR R/H (HEATED) 650x290mm UT7071 1765811
MH7072 TWIN MIRROR R/H (HEATED) 650x290mm UT7072 1765813
MH7074 MIRROR NEW LEG. 320x190MM UT7074 1315311 /1484080 / 1504678
MH7120 MIRROR 342x198mm UT7120
MH7124 MIRROR 376x187mm UT7124
MH7180 MIRROR 260x160mm UT7180 1622446 / 6793881
MH7184 MIRROR L/H 392x205mm UT7184 1232016 /1699010
MH7284 MIRROR HEATED 24V 392x205mm UT7284 1699011
MH7358 MIRROR NEW LEG. 284x185mm (Iveco) UT7358 98472998
MH7365 MIRROR NEW LEG. 200x189mm (Iveco) UT7365 98473012
MH7621M MIRROR HEATED 24V 200x200mm UT7621M 61-3770-147
MH7640 MIRROR HEATED 24V 380x170mm (No Glass) UT7640
MH7699 MIRROR 290x170mm UT7699 74-85-115895 /
MH7715 MIRROR HEATED 24V 380x185mm UT7715 1404871
MH775028 MIRROR ELECT&HEATED 24V 384x205mm UT775028 1425104
MH780028 MIRROR HEAD 220x170mm UT780028
MH7818 MIRROR 199x199mm UT7818 50-01-853673
MH7840 MIRROR 303x163mm UT7840




Page 40 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
MH7918 MIRROR HEATED 24V 199x199mm UT7918 74-21-276373 /
MH7965 TWIN MIRROR R/H (HEATED) 670x260x542mm UT7965
MH7971 TWIN MIRROR L/H (HEATED) 670x260x542mm UT7971 20567637
ML0090 LANDING LEG HANDLE X8030
MS7987 MIRROR MOUNTING PLATE SINGLE uT7987
MS7988 MIRROR MOUNTING PLATE R&L/H UT7988
Wiper Blades
WBH550 WIPER BLADE 550MM CV HOOK STYLE FITTING BH550
WBH600 J WIPER BLADE 600MM CV HOOK STYLE FITTING BH600
WBH650 ' WIPER BLADE 650MM CV HOOK STYLE FITTING BH650
WBH700 f WIPER BLADE 700MM CV HOOK STYLE FITTING BH700
Twist Locks & Accessories
MTO0001 TWISTLOCK STRAIGHT HANDLE TYPE A0798 CF220394
MT0002 TWISTLOCK CENTRE FOR MT0001 A0799 CF221642
MTO0003 TWISTLOCK SET HANDLE TYPE A0801
MT0004 TWISTLOCK CENTRE FOR MT0003 A0802 CF222196
MT0010 TWISTLOCK ROUND HANDLE (Cranked) A0871
MT0011 TWISTLOCK ROUND HANDLE (Straight) KLTA0451
MTO0012 REPLACEMENT STAIGHT HANDLE c-w PIN KLTAO0444
MTO0015 TWISTLOCK CENTRE FOR MT0010 & MT0011 A0372 CF226334
MT0018 TWISTLOCK SCREW TYPE A0804 CF227784
MT0020 REPLACEMENT CRANKED HANDLE c-w PIN A0371 CF226248
MT0456 RAMP FASTENERS (Pair) M16 SCREW A2956
Shock Absorbers (Trailer)
SA0001 S/ABSORBER REPL MERITOR (M24) P5031 21216058
SA0002 S/ABSORBER REPL MERITOR (M24) P5032 21222271
SA0003 S/ABSORBER REPL MERITOR (M20) P5044 21221306
SA0004 S/ABSORBER REPL MERITOR (M24) KLTJO169 21224778
SA0005 S/ABSORBER REPL MERITOR (M16) KLTJO181 21225104
SA0100 S/ABSORBER REPL BPW (M24) P5103 0237029200
SA0101 S/ABSORBER REPL BPW (M24) P5104 0237022000
SA0102 S/ABSORBER REPL BPW (M24) P5202 0237228300
SA0200 S/ABSORBER REPL FRUEHAUF (M20) P5010 1527867 / UJA0878/001
SA0201 S/ABSORBER REPL FRUEHAUF (M20) P5011M CF152787 / UJC0027/001
SA0202 S/ABSORBER REPL FRUEHAUF (M20) P5012 CF1526583 / UJB0365/001
SA0203 S/ABSORBER REPL FRUEHAUF (M20) P5013 CF1526855 / UIB0563/001
SA0300 S/ABSORBER REPL DUNLOP (M22) P5000A PNP310660200
SA0400 S/ABSORBER REPL GRANNING (M25) P5027M 12310
SA0500 S/ABSORBER REPL HENDRICKSON (M20) KLTJOO13 HS251084
SA0501 S/ABSORBER REPL HENDRICKSON (M22) PIN P5005 507172
SA0502 S/ABSORBER REPL HENDRICKSON (M24) P5009W 508571




Page 41 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
SA0600 S/ABSORBER REPL NEWAY (M20) KLTJO161 M0044020
SA0601 S/ABSORBER REPL NEWAY (3/4") P5035N 90044626
SA0602 S/ABSORBER REPL NEWAY (3/4") P5060N 90044162
SA0603 S/ABSORBER REPL NEWAY (3/4"-1") P5070N 90044089
SA0700 S/ABSORBER REPL SAF (M20) P5021 2376001000
SA0701 S/ABSORBER REPL SAF (M20) P5022 2376001002
SA0702 S/ABSORBER REPL SAF (M20) P5045 2376000300/2376000301/2376000302/2376000303
SA0703 S/ABSORBER REPL SAF (M20) KLTJ0162 2376003100
SA0704 S/ABSORBER REPL SAF (M20) KLTJO163 2376002600
SA0705 S/ABSORBER REPL SAF (M20) KLTJ0312 2376007000
SA0706 S/ABSORBER REPL SAF (M20) KLTJO313 2376007100
SA0707 S/ABSORBER REPL SAF (M20) KLTJ0314 2376007200
IAxle & Suspension Components
SB0005 HANGER BRACKET FRONT (SMT) A2035 21205836
SB0010 HANGER BRACKET REAR (M/SM/SMT) A2070 21206082
SB0013 EQUALISR BRACKET (SMT) A2043 21205837
SB0015 EQUALISER BEAM (SM/SMT) A2085 21203141
SB0020 SPRING TOP PLATE (M/SM/SMT) A2140 21206056
SB0025 TORQUE ARM BRACKET (SMT) A2149 21206139
SB0030 TORQUE ARM ASSY ADJ. 441/498MM (SMT) A2254 19206039
SB0035 EQUALISER BEAM C-F TYPE (F2E) A2752 152157
SB0070 EQUALISER BUSH (SM/SMT) A2800 21020676
SB0071 EQUALISER BUSH (CF) A2740 CF150218, CF1502183, UJA0030/001
SB0072 TORQUE ARM BUSH (CF/ROR) A2760 21202104, CF150222, CF1502222, UJA0033/001
SB0098 DELRIN LINER (BOTTOM) A2980 150094
SB0099 DELRIN LINER (TOP) A2970 150095
SB0100 EQUALISER SHAFT(SM/SMT) A2801 21206000
SB0101 EQUALISER SHAFT & BUSH ASSEMBLY (SM/SMT) A2804 SUS2
SB0105 EQUALISER SHAFT(CF) A2750 CF151145, CF1511459, UJA0324/001
SB0106 \ \ EQUALISER SHAFT & BUSH ASSEMBLY (CF) A2745 CF150025
SB0110 % TORQUE ARM BOLT ASSY (CF/RO SMT) A2770 CF151104, CF1511048, CF152781, UJA0034/001
SB0O111 TORQUE ARM BOLT & BUSH ASSY (CF/RO SMT) A2765 SUS3
SB0351 RUBBER BOLSTER (LARGE) Hendrickson/Nord Type S0700 NM1010
SB0352 RUBBER BOLSTER (SMALL) Hendrickson/Nord Type S0710 NM1009
SB0360 BOLSTER TO FIT VOLVO FL7 50782 1629553-7
SB0370 BOLSTER SPRING 150MM HIGH 1696.21 3250596 / 3250796
SB0380 ANTI ROLL BUFFER Hendrickson/Nord Type 50801 NM1881
SB0381 BUSH PARALLEL Hendrickson/Nord Type S0860 NS140060
SB0382 BUSH TAPERED Hendrickson/Nord Type S0870 NS140059
SB0383 TORQUE ARM BUSH Hendrickson/Nord Type S0876 NS140179
SB0384 SPRING-AID 71120
SC0001 PIVOT BUSH 30IDx600Dx102mm P4130 21215601, 0203160600, CF152276
SC0002 PIVOT BUSH 241Dx600Dx102mm KLTJ0178 21224663, CF153277
SC0020 PIVOT BUSH 30IDx580Dx100mm P9460 0203169000




TRUCK & TRAILER PARTS LTD
Part No. Product Description |X-Ref. UC |X-Ref. O & Other
SC0040 \ PIVOT BUSH 30IDx680Dx102mm P6040 4177301000, CF151974
SC0041 PIVOT BUSH 31.5IDx1550Dx114mm KLTJO309 4177302800
SC0060 BUSH TRI-FUNCTIONAL 11/8"IDx53/4"0Dx61/2" P9828 C21824
SC0080 PIVOT BUSH 30IDx700Dx127mm KLTJO215 90008207
SC0081 PIVOT BUSH 11/8"1Dx23/4"0ODx5" P3135 90008149
SC0082 PIVOT BUSH 11/8"IDx33/4"0ODx51/4" P3100 90008139
SC0100 PIVOT BUSH 241Dx840Dx100mm P2030
SC0200 S/ABSORBER BUSH 201Dx420D (mm) KONI Type P4270R 21215752
SC0201 S/ABSORBER BUSH 24IDx420D (mm) KONI Type P4271R 21216032
SC0202 S/ABSORBER BUSH 241Dx48.50D (mm) KONI Type P4272R 21224754
SC0220 BUSH COTTON REEL CF TYPE P7135W 152540
SC0221 SLEEVE 20I1Dx280Dx44mm CF TYPE P7190 152541
SC0500 SHOCK BOLT M20 X 115mm P4065 21215655
SC0501 PIVOT BOLT M30 X 290mm P7302 21223744
SC0502 PIVOT BOLT M30 X 200mm P9713 21222234
SC0503 PIVOT BOLT M24 X 250mm (& Shock Bolt) P9717 21222231
SC0504 PIVOT/SHOCK BOLT ASSY M24 X 195mm P9751 21222230, CF152729
SC0520 SHOCK BOLT M20 X 190mm P7010 CF340610
SC0521 SHOCK BOLT M20 X 150mm P7020 ESP05/05/015 / CF340607
SC0522 SHOCK BOLT M20 X 100mm P7130 CF340649
SC0540 PIVOT BOLT ASSY M30 X 200mm c-w nut A9410 65042127
SC0560 SHOCK BOLT M20 X 280mm KLTJOO10 NF1579
SC0561 PIVOT BOLT ASSY M22 x 264mm c-w washer & nut P9832 A21052
SC0580 PIVOT BOLT ALIGNMENT M30 X 225mm KLTJO217 90508015
SC0900 NUT M20 KLTJO012 NF1012
SC0901 NUT M20 x 2mm P4060 21215651
SC0902 G WASHER M20 P4070 21215652
SC0903 M WASHER M20 P7030 UJA1041-001 / CF340490
SC0904 T g k% NUT M30 P9722 99527003
SC0905 - ) NUT M20 P7035 ESP06/02/010 / CF340630
SC0906 . WASHER M30 P9723 99513008
SC0907 NUT M24 P9724 ESP06/02/002 / CF340418
SC0908 WASHER M24 2.5MM THICK P9725 99513007
Parabolic Trailin§ Arms é Monoleaf Sgrings é U-Bolts & Accessoriesl
STO001 TRAILING ARM ASSY CRANKED M30 (Meritor Type) P9709 21222247
ST0002 TRAILING ARM ASSY STRAIGHT M30 (Meritor Type) P9769 21222118
ST0020 TRAILING ARM LIGHTWEIGHT (CF Type) P7195 UJA0895/003 / CF1522354
ST0021 TRAILING ARM STANDARD (CF Type) P7196 UJA0895/002 / CF1518782
ST0022 TRAILING ARM ASSY (CF /SMB Type) P7198 MO045003 / CF1526392
ST0023 TRAILING ARM ASSY (CF /SMB Type) P7199 CF1526949
ST0040 TRAILING ARM ASSY - 40/40mm (SAF Type) A9420 3155100602
ST0041 TRAILING ARM ASSY - 43/43mm (SAF Type) A9421 3155100802
ST0042 TRAILING ARM ASSY (SAF Type) A9492 3155102500/ 3155102501
ST0080 TRAILING ARM ASSY 6 HOLE 11-13T (YORK TEC) P6000 Y507671
ST0081 TRAILING ARM ASSY 2 HOLE 6.5-9T (YORK TEC) P6005 Y507757

Page 42 of 44




Page 43 of 44

TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
ST0750 MONOLEAF SPRING (ROR Type) 02965 21017560
ST0751 MONOLEAF CENTRE SPRING (ROR Type) 02970 21200891
ST0755 MONOLEAF SPRING (CF/YORK Type) 02960 USMO0187 / CF150204
ST0760 3 PLT F & R SPRING (ROR Type) 02975 21204279
ST0762 3 PLT CENTRE SPRING (ROR Type) 02977 21214067
ST0763 3 PLT CENTRE SPRING (ROR Type) 02980 21204921
SU0001 U BOLT M24x324mm c-w Nuts & Washers (ROR Type) P4030 21215641
SU0002 - U BOLT M24x284mm c-w Nuts & Washers (ROR Type) P4235 21215765
SU0003 U BOLT M24x299mm c-w Nuts & Washers (ROR Type) P9714 21222327
SU0020 U BOLT M24x336mm c-w Nuts & Washers (CF, SMB Type) P7000 152274
SU0021 U BOLT M24x354mm c-w Nuts & Washers (CF, SMB Type) P7001 152806
SU0022 U BOLT M24x336mm c-w Nuts & Washers (CF Type) P7005 152275
SU0040 U BOLT 1''x245mm c-w Nuts & Washers (NEWAY Type) P3040 90042406
SU0100 U-BOLT 18" c-w Nuts & Washers (ROR Type) A2165K 21204932
Su0110 U-BOLT 15" c-w Nuts & Washers (CF Type) A2780 151124
SU0115 U-BOLT 18" c-w Nuts & Washers (CF Type) A2785K 1502523
SU0901 U-BOLT NUT 1" (Fits SU0040) P3090 93400502
SU0902 U-BOLT WASHER 1" (Fits SU0040) P3085 93900027
SU0911 NUT M24 (Fits SU0001, 0002, 0003) P4035 21215747
SU0912 WASHER M24(Fits SU0001, 0002, 0003, 0020, 0021, 00 P4040 21215642
SU0921 NUT M24 (Fits SU0020, 0021, 0022) P7085 UJA0957-001 / CF340492
SU0930 U-BOLT NUT 7/8 UNF A2170 21006558
SU0931 U-BOLT WASHER A2790 21206539
Mud Guards / Brackets / Anti-Spray & Accessories
TS2000 Scania Wing Top (Low) SCBODY500 1357602
TS2001 Scania Wing NSF & OSR SCBODY42 1357600
TS2002 Scania Wing NSR & OSF SCBODY43 1357599
TS2005 ’ Straps to fit Scania Wings SC59 1383858
TS3000 Volvo Wing Top FM/FH VLBODY167 20722652 / 20936759 /3171391
TS3005 Straps to fit Volvo Wings VLBODY408 20467003
WA0100 IT420X MUDWING (1) D8095 CF229159
WA0110 IT420XI MUDWING (1) W420XI IT420XI
WA0150 IT615 MUDWING (1) D1120 CF950268 / J43A
WA0160 IT670 MUDWING (1) D1140 147
WA0170 IT695 MUDWING (1) W695 IT695
WA0190 PL40563 MUDWING (1) D7010 PL40563
WAO0300 STRAIGHT STAY 3 BOLT 700MM X 35MM D1280
WAO0310 STRAIGHT STAY 3 BOLT 780MM X 35MM D8096
WAO0320 i STRAIGHT STAY 3 BOLT 700MM X 42MM D1285
WAO0330 STRAIGHT STAY 3 BOLT 700MM X 48MM D1290
WA0400 . STRAIGHT STAY 1 BOLT 540MM X 35MM D8089
WA0410 STRAIGHT STAY 1 BOLT 590MM X 35MM D8100
WA0420 . STRAIGHT STAY 1 BOLT 700MM X 35MM D8101
WA0430 j \ STRAIGHT STAY 1 BOLT 590MM X 42MM D8091
WA0440 . STRAIGHT STAY 1 BOLT 700MM X 42MM D8102




TRUCK & TRAILER PARTS LTD
P_art No. Product Description Iﬂaf. uc IX-Ref. OE & Other
WAO0500 CRANKED STAY 3 BOLT 700MM X 35MM D1275
WAO0510 CRANKED STAY 3 BOLT 780MM X 35MM D8097
WAO0520 CRANKED STAY 3 BOLT 700MM X 42MM D8098
WAO0530 CRANKED STAY 3 BOLT 700MM X 48MM D8099
WAO0600 N CRANKED STAY 1 BOLT 590MM X 35MM D8090
WA0610 ! CRANKED STAY 1 BOLT 700MM X 35MM D8103
WA0620 CRANKED STAY 1 BOLT 780MM X 35MM D8104
WA0630 CRANKED STAY 1 BOLT 780MM X 42MM D8092
WAO0700 RUBBER MUDFLAP 16 X 12" (406 x 305MM) E1000
WAO0702 RUBBER MUDFLAP 18 X 12" (457 x 305MM) E1030
WA0704 RUBBER MUDFLAP 20 X 12" (508 x 305MM) E1040
WAO0706 RUBBER MUDFLAP 21 X 12" (533 x 305MM) E1045
WAQ0708 RUBBER MUDFLAP 22 X 12" (559 x 305MM) E1020
WAO0710 RUBBER MUDFLAP 22 X 16" (559 x 406 MM) E1047
WA0712 RUBBER MUDFLAP 22 X 18" (559 x 457MM) E1010
WAO0714 RUBBER MUDFLAP 22 X 36" (559 x 915MM) E1050
WA0716 RUBBER MUDFLAP 24 X 12" (610 x 305MM) E1025
WAO0718 RUBBER MUDFLAP 24 X 18" (610 x 457MM) E1011
WAO0720 RUBBER MUDFLAP 24 X 36" (610 x 915MM) A2400
WAQ722 RUBBER MUDFLAP 96 X 12" (2438 x 305MM) E1048
WA0724 RUBBER MUDFLAP 96 X 15" (2438 x 381MM) E1049
WA0802 16'"x22" (410x560mm) Clearpass Anti-spray Flap SF31
WAO0810 22"x24" (560x610mm) Clearpass Anti-spray Flap E6010
WA0814 24"x24" (610x610mm) Clearpass Anti-spray Flap E6015
WA0817 26'x24" (660x610mm) Clearpass Anti-spray Flap E6016
WAO0838 24x42" (610x1070mm) Clearpass Anti-spray Flap E6020
WAO0840 24x48" (610x1220mm) Clearpass Anti-spray Flap SF44
WAO0842 26''x48" (660x1220mm) Clearpass Anti-spray Flap E6026
WAO0900 . IT35 WING STAY BRACKET 35MM D4200 IT35/ CF229468
WA0901 ITA2 WING STAY BRACKET 42MM D4210 IT42 / CF229160
WA0902 IT48 WING STAY BRACKET 48MM D4220 IT48
WAO0903 ’ IT50 WING STAY BRACKET 50MM D4230 IT50
WA0910 , IT35ADJ WING STAY BRACKET 35MM D4200ADJ IT35ADI
WA0911 ITA2ADJ WING STAY BRACKET 42MM D4210ADJ IT42AD)J

Page 44 of 44




